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Time Allowed : 1:30 p.m. to 4:00 p.m. (272 Hours) Total Marks : 140
(1 mark for each question)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-80 are printed in order in the question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

+ Do not open the Question Booklet before 1:30 p.m. in the Examination Hall.

4+ Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as firstly there is provision of negative
marking of 0:25 mark per question for wrong answer as well as for selecting more than one
option of a question, and secondly no extra OMR Answer-Sheet will be provided for any mistake
or correction.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

4+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

4+ The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

4+ Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

4+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile phone,
calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.

4+ This Question Booklet consists of 140 multiple-choice type questions, all carrying 1 mark each
approximately from :

Pedagogy : 50 marks
About Assam and its People : 35 marks
General Mathematics (10th Standard) : 15 marks
General English : 30 marks
General Studies and Current Affairs : 10 marks
T
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1. What should a teacher tell her students to encourage them to do tasks with intrinsic
motivation?

(A) “Come on, finish it before she does.”

(B) “Why can’t you be like him? See, he has done it perfectly.”
(C) “Complete the task fast and get a toffee.”

(D) “Try to do it, you will learn.”

2. e FmEe R @ TTFe! FIF AP TR [FHS Cafee 2

(A)  LEREE (B) =_T_RE
(C) EfeaERe (D) G@wwE
2. RIS SIHAN B (2N FATFO! B AGPIC BT 3MT® PCARCA ?
(A) Gl (B) TR
(C) EleaERe (D) @WCE
2. HarEl wEEd TN 3 SrEadEn @R goTs gHTd STTREiEHE ¢
(A) IR (B) TR
(C) FEAHRRI (D) sEed
2. The famous Kamrupi poet Hema Saraswati flourished during the reign of
(A) Dharmanarayan (B) Naranarayan
(C) Durlabhnarayan (D) Vaidyadeva
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3. Saira is a class IX History teacher. Every Monday the History class is scheduled in the last
period in the timetable after the Physical Education class. She tries different approaches to
make the classes interesting. Last Monday, she gave a task to be conducted as a group
activity. However, during the group discussion, she observed students were not engaged as
many of them were yawning, they leaned back and constantly checked for time to know
when the period would get over. What could be the possible factor for such a behaviour
displayed by the students?

(A) The task was not clear and students were confused

(B) The task was clear, but students were disrespectful towards the teacher
(C) Students dislike History subject

(D) Students felt boredom and fatigue
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A) =™ (B) SICE! T&1E
(C) ©F© (D) TR (FIDIES 72T

4. G20-7 4 ST (FIAR TRES ?

(A) & (B) Sl T8
(C) ©=I© (D) &I @A ™

4. G20 7 TErE e’ q@E?

(A) rH (B) ¥30 WHo Wo

(C) wd (D) SBRM AEE T
4. Where is the Headquarters of G20 located?

(A) France (B) USA

(C) India (D) None of these

[aaN o

5. ffen e SWaed [l A w9 27

A) oo, e, e[eie (B) @I, (eI8iCh, IR
(C) WA=, arofle, QD (D) A (PICTICBICLR T2
5. fafew oo wicem Aeera foaf qreiae a9 2
A) oo, Tl sFene (B) WdI, CS6ien, B
(C) valRws, o[ee, @G (D) «@&leR @he T
5. STREHGRM g g TH T TSa geT
(A) Toumm, ArEy, TETa (B) ™M, g, =R
(C) =IZed, TS, e (D) BRI HEET T
5. Name the three capitals of Ahom Kingdom at different eras.
(A) Tipam, Namrup, Gargaon (B) Moran, Bhogdoi, Charing
(C) Charaideo, Gargaon, Jorhat (D) None of these

6. ‘OIS TIICHET @ SR fevea R <1 Teee € 2

(A) STEEeR o[ Ko fe aE (B) 7j2FeR “[l e fEea Cal
(C) a9 7/ ©fCe (D) &R #[Q1 T8I Bee Col
6. TMCGT ‘CTFICEFCRE e’ AT FCF Freld Taae @forcd a2
(A) TER (AT WHE FICS (B) AT (AT TS FICE
(C) T2 AT N (D) &N (AT T
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(A) FUETETHERE Y wEeTEem (B) SATCTGTHEI SoTg @I TSRSt
(C) &M amfafm (D) THAER Tet AHRYg I

6. The ‘cephalocaudal principle’ of development explains how development proceeds from
(A) general to specific functions (B) differentiated to integrated functions
(C) head to toe (D) rural to urban areas

7. IFORT PR AW TGS 2, Pawe oM=[ A €2 IR FECT 2, STGAbe “NRIS [ ol T
T 2, (O3 AAF6 “M=I 529 o0 wive 2
(A) =R T (B) T W
(C) el P W (D) =ZFAR T W

7. AW TG AIRT PR G, DAL “RIT TH@R MW T G9R STGADE R A T &
e 21, wea Tagh =T FoeE ) [re 2

(A) =R T (B) et Tl
(C) Wl FCHE T (D) =AM T

7. TEATEA TEHRETYHE ArEr, = geie Taue Al g, e SIS Al HaEle aiE, 3sdl
HvTHa BTSN " e ?
A) ot g ufx (B) <l ufx
(C) Wed TMd At (D) efia ATga AfX

7. If Sandhyachal Hill is for Basisthashram, Chitrachal Hill is for Navagraha Temple,
Garurachal Hill is for Poa Mecca, then Monikut Hill is for what?

(A) Sri Surjya Temple (B) Dirgheswari Temple
(€) Madan Kamdev Temple (D) Hayagriva Madhava Temple
8. ‘(B 2’

(A) “IGRT DOCETS 0 A O 9 [{T@T 419
(B) 931’7 TR 2% F91 &3 Toel (575 lcafe
(
(

C) Ti2a ScEel S T #1419 Pla el
D) =N (&R (&1 o6 G Sf™F© g 2219

8. ‘%TM%W, =7
A) IGIcTa oW waica S~Fe Gih {91 419
B) G W& 2[f$S el fFC BRI

)
C) TR S0 S FAC 7K1 9P Fhas Jasral
D) P (&1 ST =931 YA 7l SRFS Tgel 2121

(
(
(
(
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8. ‘M’ M &l
(A) TTSTE Gacrsl 9HT ST HiAE ST @l 1Y (Metal)
(B) Elon Musk S BETESIFRE MM foha swRI
(C) HHTEH AETE AA®HEl TFE T@Td g™ diel (Al)
(D) NASA fi James Webb Space Telescope i fag<IH™ e Asteroid

8. Tantalum is a

=

rare metal discovered in the Sutlej river bank in Punjab

oy

new cryptocurrency launched by Elon Musk

8w

type of artificial intelligence that can mimic human emotions

P —

D) new asteroid discovered by NASA’s James Webb Space Telescope

9. 9Bl AN (B<fF 10 folbi/€Bl (I57® GBI (Gevieq =Jof S “MCT | G2 (GRFCOE @orq weee 2 fojsfe
(b7 TR (BRFCHT 12 qBTe 4ol i 21 | A 7eaiel 6ol Yfer W =7, (o= el e (BRIl 4Tl
2’031 20 ¥BT A A | (GFCBR qerFe fiefy < |
(A) 600 F6R (B) 300 fi6R™

() 75 foo™ (D) 60 fooR™

9. &3 TE 9 46 HIECE 10 b 2fS 9Bl (qeel ©fS FACe “I1cA | BICHd Toene! SRFS «Ffo qr2afae
Fo1 12 GG GIFibess 7o)ef <Ifel Fce Ieq | T Toy et (el A, Oraeet Aol BirE 20 1B et
7@ | IR qRerETe] foefy 99 |
(A) 600 fooE (B) 300 T

() 75 feom (D) 60 feo=

9. g 3 @l 10 fofer /e MRAfoRmE HiAg 2usil o119 WieAl 2| o SR ety sreriea ame
AT 2 THISTEE SRRl 12 SRerRmE dfel @Al g e AEqel 2wl W B S, STl
31 SRl Sal ST 20 B2t | A7 | SR grarme fag
(A) 600 ferer (B) 300 fer
(©) 75 ferer (D) 60 forer

9. A tap is filling a tank at the speed of 10 liters/hr. An outlet tap at the bottom of the tank can
empty it in 12 hours. If both the taps are opened, then the full tank can be emptied in
20 hours. Find the capacity of the tank.

(A) 600 liters (B) 300 liters
(C) 75 liters (D) 60 liters
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10.

10.

10.

. SORRITSIE TR Mad AT Qo FEwcE ‘R 20 Rers s 5 e “meq 2
(A) = I R 517 9B S
(B) afrfFaeiyee _rseq =l
(C) fTo" FE e SSIRCET SF OF S2[S 71e I (SEETF T2 F
(D) BRFq e A 2TEITT A

‘O T AR A0 GG RS O RIG-RAICE SO SITSRBAITSICE (2Rl Q9 2

(A) =¥ G TFIPR 517 B |

(B) ferfaeners *[HFI @il

(C) e e 2lfe il ST & YR (12 IS TAF 78] S &) S T2RST ¢
(D) BfRF TCOl ZFRR 2 ¢

‘A arEr dicirs 7 onfas aw wRifE e ST 3 SRS we g g

How can a teacher encourage her students to be intrinsically motivated towards ‘learning for
the sake of learning’?

(A) By inducing anxiety and fear

(B) By giving competitive tests

(C) By supporting them in setting individual goals and their mastery
(D) By offering tangible rewards such as toffees

11.

11.

11.

11.

‘oI’ Jfel WS *PTEeE SNifes

(A) pfear (B) Lom=t

(C) pIE (D) peUss
SRS TR TS TSl 2T

(A) e (B) o=

(C) T (D) T
RUIEIE SR EIPEIEIRIEIDIES I

(A) G (B) gGamet
(C) UFHI (D) gAqH
The King nicknamed as ‘Bhogaraja’ was

(A) Sutiyamphaa (B) Sutamla
(C) Suramphaa (D) Sunyatphaa
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12, ‘e’ 2'¢ @&
(A) Cefs el (B) i afow
(C) TS (A (D) STIfERs s1oe
12. ‘TP 7o 9T
(A) RS el (B) NI afow
(C) TerS (A (D) STIfERs s1oe
12, ‘3UH’ AT HEY
(A) g oty (B) Hieiri gremg
(C) <HM TH (D) THTSTR 3Tee
12. ‘Gender’ is a/an
(A) biological entity (B) physiological construct
(C) innate quality (D) social construct
13. FeoTSl TR (T 2[feTd (B5To B “Tore! Treere Fiaq Riffes 2

13.

13.

13.

(A) e (B) o&’[q
(©) =7 (D) CI=I7[

FepeTe] I (I AR SO O] TCBIE FACO (LRI ?
(A) o (B) (@&
(€) =E (D) T==H

a9 Police station 31/d Shiehaidl s&am gel fhtfthera fsg amfirgimm?
(A) EiHag (B) Vg
(C) &YX (D) IR

In which police station, Kanaklata Barua wanted to hoist the National Flag?
(A) Sonitpur (B) Tezpur
(C) Gohpur (D) Behrampur
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14. e[eRPIRes A1 a7 owl 629 ore wivs 2
(A) R9rS 31 HRBRrS four (B) fefefes fom
(C) vz o1 (D) &R AT AT fom1
14. “ICh oF w79 Al Horoaifiess DereRel Fiom e F=iFe 2
(A) ReM® A1 H<Bfre ow (B) =yfefefes om
(C) RFFa BB (D) SR 1 [T BBl
14. SRgH aRUEE (Out-of-the-box) WA HIH! 3
(A) HHEE O (B) IS UMM THETE AT
(C) SRR aFa= (D) HHAEMET FHITEAT
14. ‘Out-of-the-box’ thinking is related to
(A) consistent thinking (B) memory-based thinking
(C) divergent thinking (D) convergent thinking
15. From the options given below, choose the word that is most nearly opposite to the word
‘Succinct’.
(A) Curt (B) Pithy
(C) Terse (D) Lengthy
16. o PPFa q1Cq SbiRee Begd 2
(A) TS ST TS 741 (B) IS TR @[l
(C) =@-Ta SPIRYPR 79 4l (D) & Sl TS (T
16. g PERCe (FCq SRCo SFgelef g (i ?
(A)  CIANCS ST TSR A (B) CACS TR €
(C) =@-TaE SPIRYPTR 71 I (D) TG S TS 2
16. 9 BRI amEm A Tieam?
(A) ITENTE AT AR (B) U@ GHATHAT WifeHm™
(C) REETRREA SHME! = e (D) WIS AT T SIE™
16. What is most important for a teacher?
(A) To maintain discipline in the class (B) To be punctual in the class
(C) To remove difficulties of students (D) To be good orator
17. 320 <6 PN (Fl Seieq 2a=o[IoTe 795 2
A) T (B) IR
(C) ff=g (D) eI SRS
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17. T ) SPTICH (e GG AT715TS 7@) ?

(A) TS (B) I

(C) fafr (D) CIGTAE S=R
17. Sga1 HEHEET STEME 96 G g SReTR aemmE ?

(A) <=l (B) it

() fufa (D) &9 FBR
17. Bohuwa dance is a traditional event of which tribe of Assam?

(A) Deuri (B) Karbi

(C) Mishing (D) Sonowal Kachari
18. SPINE GG R I (PIFCO! 2

(A)  cmefe (B) BTef

(©) TR e (D) Ffer
18. SPICHE @ A F (PG 2

A) CTRE (B) I

(C) W= (D) Hrfe
18. IHWH W-H@ Ramsar Site 37 o€ ?

(4) @Al (B) =mgf

(C) R foret (D) et
18. Which is the only Ramsar Site of Assam?

(A) Sonbeel (B) Chandubi

(C) Deepor Beel (D) Dhirbeel
19. Pl a2elq AP TR IR 3197 Siv® (2 SR |

(A) 2o (B) sl

(C) =S *fe (D) @R (FICACOICES T2
19. ¥R CTR SRR feafer e S |

(A) 2= (B) wfiml

(€) e e (D) 9sfm @IbE T
19. AT HATAEH IR SRS leal & |

(A) TEREEAH (Intent) (B) WHTHT (Dignity)

(C) TEEtE Ml (Psychic power) (D) BRI HEET T
19. to learn is related to motivational aspects of learning.

(A) Intent/Will (B) Dignity

(C) Psychic power (D) None of these

TCR-2024/P-11/202-D 14




20.

Choose the one-word substitution for the given expression :
“One who knows a lot about food and enjoys eating good food”

(A) Gourmet (B) Curator
(C) Parasite (D) Chaperone

21.

21.

21.

21.

(1@ 3947 (Fundamental Duties) FF “[AI*(C Seq TR \sté\‘f 391 (2f=e 2
A) H2 PO
B) w1% uffncgive [t Foa @ 2w

(
(
(
(

C) By S

D) 59 P 3

TafeTire R AR SRTed R (TR T TS Pl 2CA2eA 2
(A) *2 R

(B) SRICSA 22 Z¥PIS ATTFR F

(C) g™ I

(D) == PR FEH

The Fundamental Duties were included in the Constitution of India on the recommendation
of which of the following?

(A) Shah Commission

(B) First Administrative Reforms Commission of India
(C) Santhanam Committee
(

D) Swaran Singh Committee

22.

Fill up the blank with the correct option :

Please don’t break in our conversation.
(A) at (B) with
(C) upon (D) of
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23. TBD TRHT. G 2qEA 91 -G (teaching-learning) “&f® (22
(A) WF FEa (B) o ferser
(C) &=’ (D) 3%RAFe P
23. 25 T, SICe @l 2<few REwel-Rig mhe (i 2
(A) SR (B) "&IoT® Pl
(C) @& ofik (D) iz Pese
23. Dwight W. Allen S GRS BIRAR-HIAHR 3TTEaT 17
(A) TS BRAM (Microteaching) (B) Tl BRI (Team teaching)
(C) % =W (Brainstorming) (D) 3eR&H BRIAE (Interactive teaching)
23. Which teaching-learning method was introduced by Dwight W. Allen?
(A) Microteaching (B) Team teaching
(C) Brainstorming (D) Interactive teaching
24, <fbzE BRe TE A1 A A (P =S AR TR 2
(A) Fres (B) =19
(C) v'© (D) 3R (FICACIES 727
24. TR GiReE e 1 [ AL (@ T S 2 2
(A) FTHA (B) 4
(C) v@ (D) € D2 7
24. 3@ (Odisha) I Tiger Dance UdT ‘Bagh Nach’ @ Fe TS WEE?
(A) (B) =@
©) = (D) SBRM HEET T
24. The Tiger Dance or Bagh Nach’ of Odisha is performed in which month?
(A) Falgun (B) Baisakh
(C) Chaitra (D) None of these
25. 12-18 I2q9 FA-RIAF 0 39 FEFS f2bica Rwierre (o€t e @3 7 AR iR 39S
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e 6 CFaS TSl 7’7 2

() Rgree AR R FH Q-G T B [l TS (2 FETed qo [Ty FE oLt
JFGINS T SCEB IR AR 2+ F1

(B) @ (IR SRR TS MF (22 SF GG ToFe eS8 A9 2I1d, G Slel- (@[
“N12f B FEQ 2o FIga

(C) TFeR-RFenIreea SPicafFe *RAR[F 1, Yol GTae, TvF a1 2 S, SIfemfEs smet siem
APeq wq Romee Sbae AR Were AR AfscaiaTem iR qE FE | O (el
F'q1-ceEE g Sface [fze a@w o'7 el

(D) frifireeica Tifeare s «ifis el awi 3 e TaeRs siias wid 3 i #1esl




25. 12-18 (A9 TA-RACE FEFME 391 qFae FEee i Fesidior wiom e @it g7 AfRe

SICT GOTCS S FISIC RG] 2fel FHC 2

(A) RIS A I FAEE ACe BG-RAA TEOE b7 (AF TS 2@ FaAMed 1o [ $@

(B) 2CoF T@-Ta! (PR SRTR W& [ Sods T2 | @ T OIME [ SAAGF 08-Sl Ao
I | TSR ©I1-TC7 A1 KO 08 =161 O & a2 9|

(C) fer-fReSicr spizafee =[P A<cael, Gl G, IS G @fe wipifes ool e wiwad,
SferEe oM SEc 2rghe 7=ABl IdE Wo M= HceTegd Tws FCE | O @ wen FrerE
e Tge et e 227 41 T

(D) RS Tfere 43 i FE 2wim S S hes SR e $eree 26d

25. 12-18 TERM HEHHRE! BT 9@ BRI 7R wEEfaae S gamem a9e T segEn
ISR AioTeT e SEr e ?
(A) @ Nfg A g8 JEi GRETE SR BEER TE STEHEE 38 SHH - 38 T
YEARE BRAFAREAN fo@rfs meaer e SHerE! BIEEeE- g-
(B) TS BIREMET QWA FHIH TS 9G] AR o THE SR qea@ - Seeee isn S
BN, SFEEE HST -1 SR oS g foe amem me

(C) THIF ST Fur-Toeendr ¥anty A @ g, e aFE, B0 Ogar SerEE, e mi
TARFAEER a1fe fiema STRgsii AR TSRE 9ed THT SERERHT o JRiEt | St
ABISTIE 7o BRI @ T AGH Tl A ST Jist

(D) STecITel ST TR SRR AATTE B TS STTERE! ST sSTEm WIers-i

25. As a teacher teaching the age group of 12-18 years, how would you support the learners to
create a positive environment at school?

(A) Create a conflict-free environment where learners can freely express themselves and
their personal issues and concerns by being able to share in an anxiety-free manner

(B) Everyone has been through teenage years, sometime teenagers can be irrational,
therefore, it is important for them to distinguish between right and wrong

(C) Teenagers enter risky behaviours like unprotected physical contact, drug abuse,
alcohol, unsafe driving, instigate daring challenges with peer groups. Therefore,
appropriate disciplinary actions must be taken against such children

(D) Inculcate good moral behaviour by regularly conducting religious and value-based
education

26. TIPS Q9 FFF Ao (FH F O SQFS ?

() =@ (B) CSIE@I@El

©) = (D) oTenfs
26. PG *Fe AT S (FU (IR FAES 2

() = (B) (oIRT=ToITeT

() foxe (D) G
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26. EMH fAF W fha snfiesm g same g7

(a) Tl (B) TETCTART
(C) fau= (D) &
26. Where is the Vulture Conservation Breeding Centre of Assam located?
(A) Rani (B) Goalpara
(C) Teok (D) Sonari

27. Iz SR 2024 7 SIEE PR (@ ER 2rebe 369 W el 2

1. SfeerE 25 f. #Ea 2. WfEER 10 f. 3" Fi3e
3. fw 10 . @3 et v 4. 9fFER 10 W, @[ 2T
TS WAl (T I92F [ M THACH! AR F99F
A) 2 < 4 (B) 1< 3
(C) 2«3 (D) 1 9 2

27. N SEI™F 20249 T OIFR RIS @R @ 3000 @l W ferefeeEr 2
1. e 25 [, e 2. WEErE 10 . 93 e
3. fm 10 . @R PRreat w1 4. feEmom 10 B, @9 A
TICH 27e (T IJR2F T¢I 0T TS B T
A) 2 @R 4 (B) 19k 3
(C) 293 D) 1 9R2

27. 2024 UfE AfAFFwE 77 TR F6 HA TS S HaTd HHGHH ¢
1. STESeRE 25 o fiea 2. ITESMHRM 10 fo TR fied
3. ™ HA 10 o TR foed g 4, IMESHRMA 10 o TR TEHa
TERTE EHE heE! STeE e et g’
(A) 2 3 4 (B) 131 3
(C) 2 3m 3 (D) 1 3 2

27. At Paris 2024 Olympics, Manu Bhaker won bronze medals in which of the following events?
1. Women’s 25 m Pistol 2. Women’s 10 m Air Pistol
3. Mixed 10 m Air Pistol Team 4. Women’s 10 m Air Rifle
Select the correct answer using the code given below.
(A) 2 and 4 B) 1 and 3
(C) 2 and 3 (D) 1 and 2

28. T 4T (O IR PR Ta-TaiF @ 212 13 77 el 2o |
(A) R wER (B) A2
(C) Wi (D) @3RS (FICICHIES 727
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28. & U0 WO GFee FIFS Ra-RAICS S0~ Gl e Teae =T |
(A) R R (B) 1AW
(©) e (D) «sfoR @enhe T
28. John Dewey f annfesen am wRiftfen wrrmmere frmft amwmme TR SR |
(4) TERIfR (B) feenfit
(C) WTgATI (D) SHRA A=A TST
28. According to John Dewey, the teacher should guide students as in the path of
knowledge.
(A) facilitator (B) guide
(C) philosopher (D) None of these
29. (G112 B2 S (7% (el Fiore (e 2

29.

29.

29.

(A) 1905 (B) 1911 (C) 1900 (D) 1912
COIFETE. B SICIRT (F% F© A FIfS 2aRe ?

(A) 1905 (B) 1911 (C) 1900 (D) 1912
ZaATS Tl T SRE™ SEAHT 9« SIERId BESEHM ¢

(A) 1905 (B) 1911 (C) 1900 (D) 1912

In which year was Tocklai Tea Research Institute established?
(A) 1905 (B) 1911 (C) 1900 (D) 1912

30.

30.

30.
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IR 2O PRrplered fee so/e [RmeE #1cF 2
(A) SIS PRFlrzeR ARS =CTS 33 T

(B) TR0 (FICT CN17BH 2ro frslazed eo[qe w#1cd
(C) 12 Scafle e 2t Frelezd B9

(D) SICES[ 2| YeNFeId & - (@Eea (Qfas

o~

PME 829 #[(F

farse 2l R ToIT SICae Ao S AT ?

(A) SIS (IR AT (TSI 9CT COICET

(B) PSR ¢ SICACOR (I 2OFF AS_ (W2

(C) 7 W& R Wheal 2iFe Frmlerzel 7eq

(D) PFRRITE (@i KPS [ 2o/ 71ece e

ST WA A @IS WTeR TR @i ?

(A) ST TIAHEH & S GRS

(B) ST WIAHETE Al Sell MEW @ierdn

(C) WA STFS! Socl ST SITHET g S

(D) 3Tt Tl Mg 7o B Hiedl SR e e g




30. How does emotion affect learning?
(A) Emotion gives the right mood to learn
(B) Emotion does not have direct impact on learning
(C) Learning can happen when there is healthy emotional development
(D) Emotion can have adverse effect on intellectual abilities of children

31. 1 &A1 BICS O W T (AISHE), 2021-2022 SR o[ TSCHE0! HIES :
1. 2021-2022% T Rl 49© 49 T2I0CP NS Ifa 3R |
2. I =4S e (@R TefE tacz|
3. ROM g MRUF CFq© O S 2SS (@R |

3%114 CFICOI / (RIS T4 >1|r5<1> ?
(A) &9 1 (B) <1 1 IF 3
(C) (&9 2 o= 3 (D) TR AGBCHE0!

31. 1 B ACE O 2R GO (AISHE), 2021-2022-G3 (ZHI7[C5 WafIe qearasf [l 39
1. 2021-2022 Ace THHEFEFR @15 SIferple [ore q=ea Wi i oI |
2. e 1R SifeTereled 29 ARCACE @R |
3. o Frediom o Fees @ e g |

Toiare IeareR W @b/ @l Al 2
(A) (PTG 1 (B) (IeTIE 1 @R 3
(C) (PTG 2 @2 3 (D) @3 7RV

31. All India Survey on Higher Education (AISHE), 2021-2022, S @M<l AN TeE
E;[FWI’RT@[ REIRE
1. 2021-2022 39 ST AAAEH TE GRS SHR-gs SEe |
2. Q'FWI'&T HIATRT f%MEE (Commerce stream) aaﬁjg's T |
3. T BT WEETHR safrgg Sifs Srem A JeHET |

TSiTETe B F6l /e FRARBRT e ?
(4) 1 e (B) 1 3 3 a1’
(C) 2 IR 3 37’ (D) JERF T

31. With reference to the All India Survey on Higher Education (AISHE), 2021-2022, consider
the following statements :

1. The total enrollment in higher education in 2021-2022 has increased from previous
year.

2. The enrollment is highest in the Commerce stream.
3. The highest share of foreign students is from Bhutan.

Which of the statements given above is/are correct?

(A) 1 only (B) 1 and 3 only
(C) 2 and 3 only (D) Al of these
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32. weTe frEl el SEFTOPTRS 24 A4S ToPISf T[S TelET

1. fogcarfemn a. PRyF W69 Fe RS SRl

2. foperglon b. SRl gEre S

3. o c. “[Te I, T, o

4. focafsm d. sifreq TS S

5. fopczioal e. Terdre Spifadl, qaTeE et & conare Spik
(A) 1-e, 2-d, 3—c, 4-a, 5-b (B) 1-c, 2-d, 3-e, 4-a, 5-b
(C) 1-b, 2-d, 3-e, 4-a, 5 (D) 1-a, 2-d, 3-b, 4-c, 5-e

32. ffIe Mea SrFqeiins o dFe Topief SRR el

1. fcamsm a. PrRYg 5o THHOR NI STFIO]

2. foorpeTem b. Tl (@R SRR

3. fexenfF c.  2[oe] IFFTSl, A, TONW

4. foreafsm d.  sffefces S N CH@ PRl

5. foicfem e. (OISRl 3R RIS IR SRl
(A) 1-e, 2-d, 3—c, 4-a, 5-b B) 1-c, 2-d, 3-e, 4-a, 5-b
(©) 1-b, 2-d, 3-e, 4-a, 5-—c (D) 1-a, 2-d, 3-b, 4-c, 5-e

32. TEEH SdqE glifeE! df s feffest maser :

1. femaifd@n (Dyslexia)

a. 79’914 Motor skills @ BTSSRI ST

2. fqgehagfa™l (Dyscalculia) b TE@l FHMEM SHT

3. femmfean (Dysgraphia) c. TEEE! g, M, s

4. femufean (Dyspraxia) d. T GremaE S

5. feuhfn (Dysphasia) e. foret w1, sAmET giea it
(A) 1-e, 2-d, 3-c, 4-a, 5-b B) 1-c, 2-d, 3-e, 4-a, 5-b
(©) 1-b, 2-d, 3-e, 4-a, 5-c (D) 1-a, 2-d, 3-b, 4-c, 5-¢

32. Match the following learning disabilities with their appropriate symptoms :

1. Dyslexia a. Difficulty in coordination between child’s motor skills
2. Dyscalculia b. Problems in language comprehension
3. Dysgraphia c. Difficulty in reading, spelling, etc.
4. Dyspraxia d. Problem in doing mathematical operations
5. Dysphasia e. Difficulty in writing, understanding spelling conventions
(A) 1-e, 2-d, 3—c, 4-a, 5-b B) 1-c, 2-d, 3-e, 4-a, 5-b
(©) 1-b, 2-d, 3-e, 4-a, 5-c (D) 1-a, 2-d, 3-b, 4-c, 5-¢
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33. TEET I G5! 7 fF =1fRe 2
(A) IR (B) WFHES
(C) P2 (D) T4 qews 72

33. THEWEI [ JN0 FI?

(A) TR (B) wpEe

(C) fmbrz (D) € (FTE
33. Hgeal A YT "HE?

(A) TEARE (B) WFieast

() fuwa fo= (D) Tomdrfr wme e
33. What is the other name of Malladev?

(A) Naranarayan (B) Sukladhvaj

(C) Biswa Singha (D) None of them

34. QIRIF! FIF <Al (FHETT [ S e 27fe F<afed FICes T8 712 (20>
(A) AfSsaF s e 4T9 FIACT WhatsApp 221 98 F4%e1 BT SeeTial
(B) =S ez AT @2 @i 2fed 73R =1 Ois e
(C) ST CaIweq TACAN (RIS 2Rf& TS “(@Teet (2’ A6 31
(D) TR TRIAE 71 (S SR TR [RwerE i 9299 10 AP oEe 4l

34. GFE FIFCPT NI (T KM @98 OIS 2@ e2foq AT TLPE 712 2
(A) 2CoF PrFFcE ©F FIed FIOT & WhatsApp 2671 32 T T2 1G]
(B) =f® Aace Ace Flig i «1e s f&oeq efes e =1 ol e 1
(C) afefb B TN THRATETE A& TS M-I FF A I
(D) I =8 GUT AY(G TREGICT PRGN IR AT (o el

34. 9 BRI GRS tes Sae 0 999 srer fofem siargaei aefim amen se
(A) TTHE BRIATEH! A ATEl 9™ WhatsApp g5 GRSET ST 8-

) THEAE HhE] AATE ATEEE aerE SR seEeEEE T e

) HFHEE grET TR fote me aer et e feite’ e

D) HEEICEE SERATSH! Ser i srge! Jiste SR 7od i aremam

(B
(C
(

34. The best way of a teacher to integrate technology with development of teaching skill is
(A) encouraging each teacher to create WhatsApp group for her class
(B) ensuring that technology is the part of a specific number of lessons each week
(C) creating an exemplary technology integrated lesson plan for each grade level
(D) modelling the effective use of technology tools throughout the school year
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35. TP ARy He'q ‘G’ (I JT120%e ?
(A) ¢Sl I (B) Teore wmi
(C) Foret 7T (D) @9
35. ‘P M) TeI'Y ‘AN’ T (T O PCARC 2
(A) et = (B) foere wmi
(C)  aret wri (D) @9 &
35. ‘W Wifeed @' @A (logo) TR YW HeX BISTETH ¢
(A) I T (B) faers <@
(C) et = (D) =g fau
35. The logo of ‘Asam Sahitya Sabha’ was designed by which person?
(A) Sobha Brahma (B) Tilak Das
(C) Jugal Das (D) Benu Mishra
36. Fill up the blank with the correct option :
Please do not the offer made by the Chairman.
(A) refrain (B) refute
(C) refuse (D) refuge
37. S0 -SPNeT PP CFAS (SO Flol G AL S | (BEl 29 WP G2 TR 6 el
RISIREC R SN
(A) SFFOR T (I7) (B) 42 I PR BI%« A (I37)
(C) PR BI7 o< Traa AN (T77) (D) 4B I CAfeTcfer N (I37)
37. AT RO (2D AHPET GPb W1 =R | IGiel 2e-99 YO AeECA 4B APl
femEer “kbe
(A) SfFFeR 7 211 (B) AT @R AP HIC7F I 231
(C) TEIOE BI7 @R Traca 791 2071 (D) AT @3 PeEmg 791 207
37. AN TG MHifserei (Emotional) ST ferfergta #i=@ fiiermamt 9mat| Stanley Hall T anfesan, &
AR T grataq e s
(A) enferify JE e (B) SRE@! R e Sywfy 4 feame
(C) T SR T PG Ja g (D) aRg@n I/ @ w'f sE e
37. Adolescence is a sensitive stage in the context of emotional development. According to

Stanley Hall, this period of transition is better known as the
(A) age of turbulence (B) age of storm and stress
(C) age of stress and anxiety (D) age of storm and turmoil
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38.

38.

38.

@Bl (5T 600 TS (i I (@1 dreq «f[9e 270 5FMe [ F91 @F6ME 10 Q947 S0 |
(ST TE 20% TS F(EAcE (OleTeo! e e (e w9 anfam 2

(A) 240 51 (B) 300 5
(C) 330 5= (D) 360 5

@5 WH 270 TR [fE T @ “fFe W =7, WM6HE 600 bR [fE T weg 10 @9 e
IS 27 | (AR *MB0cE T wicy e a1 ThS 0o 6 ¢7 20% &1 w6+ Fhce #1037 2

(A) 240 =R (B) 300 TR
(C) 330 B (D) 360 B

T TEARE! 600 TSTH sl JAhI foeet 270 TS ®FHE @RI 10 BH T0H & 3Tscl

20% HATHDT WieATHAT e ] dei {qSTd il rii‘lH?
(A) 2407 (B) 3001
(C) 3301 (D) 360 T

38. The profit earned when a shirt is sold for ¥ 600 is 10 times the loss incurred when it is sold
for ¥270. Find at what price he should sell the shirt if he wants to make a profit of 20%.
(A) T240 (B) ¥300
(C) ¥330 (D) T¥360

39. oIEF SFRA @1 CAD@ed IACTOTS qE R =I@-wa o[ oyl (OSERT Hiwer
7[99 |
(A) BT ZeR (e (B) @I FIfRs 2
(C) RS TR (D) (PG 2SI

39. TN SRAI @I @@ AFCE GFEw FEET OF RA-RACE PR (AT G

39.

39.

FA-ZAIE I T |
(A)  sEgr e [KE" T (B) &g e =7
(C) RS T (D) (I 2R RBE F¢F

g aifed s dem M arEredEE, 9 BRemE wEEteE e wfsteen e
BISIEIRIC) |

(A) TR TTEM @iett (B) =W o @reruT S
(C) T ATHIISITSHTT STHIST (D) SIET TEM @i

Research suggests that in a diverse classroom, a teacher’s expectations from her students
their learning.

(A) have a significant impact on (B) are the sole determinant of

(C) should not be correlated with (D) do not have any effect on

TCR-2024/P-11/202-D 24




40.

Fill up the blank with the correct option :

Italy has a lot to offer India in her efforts to leap the 21st century.
(A) in (B) into
(C) over (D) to

41.

41.

41.

41.

(A) 22 SCFRE (B) 22 (5@
(C) 21 “&@H_ (D) 20 (LT

SPTC (@ 1D ‘st ot f2o1ca It a1 23 2
(A) 22 SCFRA (B) 22 CTHT
(©) 21 eF (D) 20 G

JMEME T @F @ (Rhino Day) HTectl HIferl ?

(A) 22 IFFT (B) 22 TR

(C) 21 TR (D) 20 TWFR

When is Rhino Day observed in Assam?

(A) 22nd October (B) 22nd September
(C) 21st November (D) 20th September

42.

42,

42.

42.

IEIS] 0O SAN [EH @F TS 2AfGq [ e =i Gense Ice @3 <[ 7| AfRpifers |
IETS SF TR SR 8 (202

(A) e S AT S B) frael o= wfvaem I
(C) SR < [ifvw P (D) 2Ffe T 2fo7en [

SRt oo SRR e ewe 2heed adl deiie Fg eTeeR Ice «ft ki a/l “ifwifers | =rte
@R G SCAbE {E 291

(A) e @72 AN Segfe (B) el @} wfFer Ife

(C) e «r fifvze (D) 23S 3R ARSI e

AR STfeset T STTEET SIS B @St S WA T Gy sifesar s SATegErsi
LSS | ST ST ST HTeREE SRS

(A) ST TR SER AHE (B) fogm om0 fogm 92 amges
(C) o’ R AR o1 A= AT AiAieng (D) Tuferm 0 @AE-sFEE gFd-foara

Aarjav says that language development is influenced by one’s innate predisposition while
Sonali feels that it is because of the environment. This discussion between Aarjav and Sonali
is about

(A) critical and sensitive feeling (B) stability and instability argument
(C) continuous and discontinuous learning (D) nature and nurture debate
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43. WOE F THOR TN 7S qferte] T 8 qB1 WIF 10 Wbl I =1eol | A qearers] qwife Freq
I8 Fom (@9re GCFeICsl FCETl B, (SCR T B TR b Frees TweR Seere 5 6 2792
(A) 3 9D (B) 3 9% 30 ff s
(C) 4 9% (D) 4 9% 40 fufid
43. 933 THOR U6 (IS IAGT 8 ¥B! Gk 10 T F~o[feficel Fe1ce “ieq | A TR el e fore
S G2 I T WF P, OF PO TR 7 O THOR ST 5 @ 6 23 ?
(A) 3 9% (B) 3 9% 30 fifid
(C) 4 9% (D) 4 991 40 fufTd
43. ¥4 GUH SIUEMH FHATY AgS @Al FINA 8 Hel AR 10 Hel 9 AT g el AuaniRd s
GRS, 316l bR 19 @HAE GRATEaE S66l 9 39 o SHATEH S 5 @ 6 SFH?
(A) 3T (B) 3 == 30 fufte
(C) 4w (D) 4 =<1 40 fufae
43. Two candles of same height can burn completely in 8 hours and 10 hours respectively. If
both start burning at the same time at their respective speed, then find after how much
time, the ratio of their heights becomes 5 : 6.
(A) 3 hours (B) 3 hours 30 minutes
(C) 4 hours (D) 4 hours 40 minutes
44. Fill up the blank with the correct option :
Please pour the milk _ the glass.
(A) in (B) into
(C) at (D) on
45. oUW Towe)e 2 A
A) 2 RE-TAN ST &7 W TWOF BI7[ E
(B) 2 Fres oIF T@-Ta TN 29 AfFe o7
(C) 3 L 271 TF© AR Al =
(D) GEFIYETe Joniaee @il o <1- (R Frogd qere 12w T 27
45. oA A 27 A
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45.

45.

SE AT TR ST St

(A) SR HRETHRE e e ST e TR e

(B) SR BRI TR Rt TS ST ATSeT @iy Het Wt Ara
(C) @ SERM STeAmEE Wedel JTeEr St

(D) TFATATR S GRS BRETGRR RAGAT SROTE! 9 wrems=m sm

Assessment is purposeful if

(A) it induces fear and stress among the students

(B) it serves as a feedback for the students as well as the teachers

(C) it is done only once at the end of the year

(D) comparative evaluations are made to differentiate between the students’ achievements

46. Fill up the blank with the correct option :
I have tried to learn algebra for years but I not succeeded yet.
(A) did (B) will
(C) have (D) had
47. QI AYS Frwe 2799 Tl [ e ?

47.

47.

47.

(A) O ~91 2F TeaEE wrfofers 41
) RS FRTESCS Tiere FEpE eqe vy Wl

[aYaSaN

(B
(C) T@-TAR T 2T 1 277 #[{1 [T o[/ == 2=
(D) 2fSsRIF! firyg M=opfs 2l

P Erey <I‘RI<P?I ﬁl‘#‘@ 2419 Crely ATSre

(A) “ATBES (AT 2T TS A1 Al

(B) "EIT® FRIFHACR “IFCS feare MR 2fe SeEtare 311
(C) ZO-TAIH FAI 2 (AT (O] 28 FRIGCP AT bel

(D) 2Cor =IG-=as F=e APl

A) Toemefem e wnm @

) T AT SR A T g

) EUIETRRI @RISR STFTRAT I

D) HIHWEa! TGSl Wi AT O™

(B
(C
(

To be an effective teacher, it is important to

(A) emphasize dictating answers from the book

(B) focus on individual learning rather than group activity
(C) avoid disruption caused due to questioning by students
(D) be in touch with each and every child
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48. I &= B FECS (@ @ G S @Rl C2l2e ?
(A) IACHDI, T, A S 7R
(B) (ORI S (I
(C) JB2ENS HF (FFIAE
(D) WaR, JACA0I SF eI
48. e @ cernefem s e wPeE a9 cwen S 2cfe 2
(A) FFCADT, TR, I @R TER
(B) CRTATEl @R (FIFCRTT
(C) JFTINE R (FFTRTT
(D) WHER, IR0 IR TN

48. M FreET o meRt 99 99 Mot serteE artssEmEE
(A) SRUST, TASTN, HHEY TR &L
(B) TTETCTIRT 3TRI SHghIel
(C) TSTEE AR FHHIER
(D) &, SUT AW AN

48. Baksa district of Assam was created from the parts of which of the following districts?
(A) Barpeta, Nalbari, Kamrup and Darrang
(B) Goalpara and Kokrajhar
(C) Bongaigaon and Kokrajhar
(D) Darrang, Barpeta and Nalbari

49, TIBE BICTEE I SN (FI @S =g 2
(A) (TG (B) @@=
() fiemeE (D) TR AR

49. SPICIE (P (e’ FIe bA2fEe S[e) (T40e NS 7 2

(A)  CoeTHB (B) @26
(C) MreTeR (D) «F [Bf
49, AWM o« o Zfusa SR gumIE TR S
(A) TTATETd (B) SiErd
(©) e (D) SiEf T
49. Tropical evergreen forests are found in which district of Assam?
(A) Golaghat (B) Jorhat
(C) Sivasagar (D) All of these
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50. ¥R SEREA P o[ e WS P FERe wAca| eaE), & osE-aagen e

wEYfE o 9
1. WF9IF (&4 CeTEl

2. I2SIRE PR 2mie

3. SRl Tore (aMBa Ice FoEa il

4. WA (& (SSETF TG I WA ACS T ST T~ 96 (71 T
(A 2,4,3,1 B) 3,4,1,2

€ 4, 1,3, 2 (D) 2,3, 1,4

50. R (AT WF A TN R OOE TG P AT el Aree, A GFe o- Ao

PRI wwee Fom e -
1. O WFEOR TN Ao Sl
JgeIfie TR 2me

2.
3. P SRS “BYRE HSIA 0 @

4. A0S ICE TOITE A OF =% AT €10 OF Tolf SIS FI9MS SIICA
(A) 2, 4,3, 1 B) 3,4,1,2

< 4,1, 3,2 D) 2,3, 1, 4

50. T ST TSN BT TREERH TEREE S SAThRE! dsE S 4 30 gie @i Qe
o B
IR CCINEREIRIR I CCIREIDEIR
2. SEET fgum g
3. TE TAERRMIN S ARMBRSH BTSTeaT
4, fodrE sEAm T OHEl ST MEERE AreRS @il i @ g
@A) 2,4, 3,1 B) 3,4, 1,2
© 4,1,3,2 D) 2,3, 1, 4

50. Arrange the following items in order of their importance, starting from most to least, that
promote a non-English speaking learner’s inclusion :

1. Know their proficiency level

2. Provide multilingual instruction

3. Pair with a peer support group of same linguistic background

4. Make them feel welcome and facilitate relationships with their peers
A) 2,4, 3,1 B) 3,4,1,2

(
C) 4,1,3,2 (D) 2,3,1, 4
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51. Mo Sfowe! Gancd “IFEe FE9 #1esl qce P 91292 27 | Efefie @mcoea Hreg wief[qe s
P IS 12T 2

(A) el e e e fefes w1 2Frafe
(B) s wniae 2py TLeie 4

(C) R @vqe bl o< Jeare ~Ricen 31
(D) EEa% q1 R eo[q@ 2mefe 341

51. PrFE Ifowel QIO “fFE F91 A ACS P w1272 27 | fgeme @ M sfewel frag
S22 RERR (RCa TS W 2

() (@FEEIG [EERE = Fe fefecs w91 Eghe
(B) Rawaww fefers 2r Cofk w1
(C) Reerergs o SCETbeTl Ga Ifewjef AACsToa 1
(D) REER To Tomiem 91
51. TICIATEE! SR WIATHH ATETT AIATTgH I Jrere Wis o7ig TIsre= | TR gHE Fiema
I TSR ey R STHeRTHT Hietionsst ofieen e
(A) TITETE ATTETE! MHETEHT AREr STael U1
(B) AT AT HITARRE! TS
(C) 3TRIETH TTTE WEREAR 3T Sy foers W
(D) et "re fafergam

51. Learning experiences should be planned in a manner so as to make learning meaningful.
Which of the given learning experiences does not facilitate meaningful learning for the
children?

A

Nad

Repetition based on mere recall of content

oy}

Formulating questions on content

o g

Discussion and debate on the topic

—_— o~ e~ =

x>}

Presentation on the topic

52. From the options given below, choose the word or phrase that is most nearly the same in
meaning to the word ‘Altercation’.

(A) Choice (B) Charge
(C) Heated dispute (D) Distribution
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53.

53.

53.

53.

oo +[Q1 STefd w12 FEFR e SRy e Ffac 17 @@ FIR giEesan 2
(A) &R R (B) <QmIL IS
(C) F=ran ol (D) @5, e

“oghe e Rpre 26 PFrwl-wrafe Preg Sreram o Fae 1”7 it 9 gieent ?
(A) SER™ @R (B) mI I
(C) w=ra S (D) &, FFRA

“Tafermfaerr SR S AeierEE T BRI wraE g ww aEe |’ o TSR 9
(A) 3fe’ =W (B) Tl 3
(C) WETeHT el (D) THo THTHVME

“Education diverted from nature has brought untold harm to young children.” Whose view
was this?

(A) Aurobindo Ghosh (B) Rabindranath Tagore
(C) Mahatma Gandhi (D) S. Radhakrishnan

54.

54.

54.

54.

58T WS 0] (FIC S FIMRET 2
(A)  QTE (B) TICSW ISR
(C) o *BHIM (D) oo 4=

58 TN TR (F AR ?

(A) eTeT (B) W% @
(C) ol *2rM (D) AT 21

58 o1 I ST IR AFe !

(A) TS (B) SITeE 3TehdR
(C) I Hgeha (D) @i ==

Who won the 58th Jnanpith Award?
(A) Gulzar (B) Javed Akhtar
(C) Nagen Saikia (D) Salim Khan
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55. 2@ bR a1 wrpfree 2
(A) T[T T GERIG F1 G FEFTI
(B) % TS 43 Ppe] (T @70 BFg S 1 9 s 2AMEe (Helel
(C) TIeq A T M &
(D) @Bl “M&fs TS PREFTFCe] G SAS=T 210 I Fq

55. WRCEHHOR A1 e Fi 2
(A) *PTSH I ARG T G FEFTI F
(B) T M@ «FF M2 (SR TR 87 SACEA I 20 I GF FFEFs 2f8mwe (e
(C) 3T AR G & FRrHIR “Tafe
(D) @b &S @A R GFS SIS “10 ol qre Fcae

55. HIEH BRI HI?
(A) TH FET FREA BRAE AAY 36
(B) IR Triemefd H=@ 3A1ee SRI9 @H TH TSE HAe’ BT AR M1 g
(C) T ITGIATE BRIAR WY ATEs
(D) HFH STEs SE BIITTGGT Sra g @ TS gEt

55. What is microteaching?
(A) A teaching technique that uses minimal resources
(B) A teacher training technique that focuses on a single teaching skill in a short time
(C) A teaching method for large classes
(D) A system where teachers observe each other’s lessons

56. C(FFCHI 20 SPTE Focare” Jfer e fren =77 2

(A) ZRFER 2 (B) ©FEH 2%
(C) T 2 (D) o 2w
56. (P I0CF SPIGE Foenle’ 270 =147 (v 27 2
(A) =R W (B) ®MR 2w
(C) e 2w (D) frg 2
56. ¢ foetat ‘smamf Scotland’ AT FATT SIT?
(A) TA fered (B) =g ferem
(C) eyl foent (D) feg foett
56. Which lake is regarded as ‘Scotland of Assam’?
(A) Haflong Lake (B) Chandubi Lake
(C) Dighalipukhuri Lake (D) Diphu Lake
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57. FOIR-RFenThieed [ Ifew [FHE oFao e @ FceRs g 2

A) Tl Ere Figre (B) NGRS “{1 e
(C) s CFae Fhowg (D) SICHS e STFere
57. Foma-Fendior afey [RPem oFea Wafeiie @i & g Tom 2
(A) TRelPleE T e (B) ZURCR AFI FIPro
(C) =i Fhog (D) SIS (FCq P
57. TEEM Fe—T ARHMGRA TE SR RAEfenm safgea sTsmease-m T8
(A) TR TS THRSTHEE (B) SEMRIAEGR THRAR WA
(C) WIATATIATN HAGATA (D) @A A fafiem e
57. Which of the following is most desirable for the identity development of adolescents?
(A) Acceptance among peers (B) Acceptance from adults
(C) Academic achievements (D) Success in co-scholastic areas

58. I a, b, ¢ QEONE JABI R, JC® a+b+ab=b+c+bc=c+a+ac=35 (T2
(1+a)(1+ b)(1+ 9T T+ fefa 1 |

(A) 36 (B) 6
(C) 216 (D) “3ERA (FICCHIER 27

58. I a, b, c LIF AT R W, Q@A a+b+ab=b+c+bc=c+a+ac=35 I
1+ a)(1+ b)(1 + 9-4F T ey 59 |

(A) 36 (B) 6
(©) 216 (D) sl @Fehe o

58. 9 a, b, ¢ M INTEAE T[S IHGHE, @Y a+b+ab=b+c+bc=c+a+ac= 35 3
(1+a)(1+b)(1+0 & am fagd|
(A) 36 (B) 6
(C) 216 (D) SHRA A=A TST

58. If a, b, c are positive real numbers such that a+b+ab=b+c+bc=c+a+ac=35, then
find the value of (1+a)(1+ b)(1+ 0.

(A) 36 (B) 6
(C) 216 (D) None of these
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59.

59.

59.

59.

‘o TS F15MC So® TeTe Wl TGAICHI0] DISF

1. 99 ~q 7 I AIpLad FINe (e @9 o6 Wil 3 4 Sifeeeslera i 2ifem |

2. 3 AR 47 B SRR AT F TS S SE TSl TFeT Bl SIS F9 (2R |

TR (IO TG /ISR ANF 27 2
A) @ 1 (B) (Pt 2

(C) 1 <P 2 TG (D) 1 W< 2 (FICCHIES T2

‘CoRe” PR 2P e Teyafe fean w1

1. 9 (ACP A I <TG Ce (TPegd @1 91T (O &) afb 9fb Sioeerers P9 afe |

2. 9t 9l AR SR L AN wFe] TRE € TNl FF O] P |
Torare el T @G/ @Mt Al 2

(A) FIETE 1 (B) (I 2

(C) 1 «R 2 T (D) 1 &R 2 @D 77

PRERANA TGS Wl ARaam et Sfommmt =ty &

1. o 9mE VI T gl XM TR wemmerf Seafili e streemi Jee wremiiee
AT |

2. FA W HER-TAE SRATEEA] 9HH JEHE SETh SRl W Siee AR TE -G
(Entrepreneurship) TS&mT ®iEmEs |

TSETE BT s /e SRR e
(A) 1 3l (B) 2 37l
(C) 1 I 2 HEE (D) 1 AR 2 HEET 9T

Consider the following statements with reference to the PRERANA Program :

1. It is an experiential learning for developing leadership qualities in students of class VI
to XII.

2. It is a week-long residential program that has been launched by the Ministry of Skill
Development and Entrepreneurship.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
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Direction : Each of the questions (Question Nos. 60 to 63) is based on the passage given below.
The questions are to be answered on the basis of what is stated or implied in the passage. Choose
the most appropriate response that accurately and completely answers the question.

Sarah was in her late teens when it first happened. A normal Thursday, it was early morning and
pitch-black outside. The wind rattled the trees, branches rapping the windowpanes like a nervous
visitor at the door. She could feel it was nearly time for her to get up, and heard her parents
moving around downstairs.

As she opened her eyes for the first time, something changed. A dark realization—two, in fact.
She couldn’t move her body. And she wasn’t alone.

Something in the corner of her bedroom was waiting there. It was watching her. Something very
old, almost primal. It emanated a vital sense of malice.

Later that day, she sat her father down at the kitchen table. “OK dad, I need you to tell me about
ghosts.”

What Sarah (not her real name) experienced that morning was sleep paralysis, a phenomenon that
affects about 7 percent of adults. It happens because, when we awake, our muscles aren’t always
ready—even if our minds are conscious and alert. It is a natural consequence of the muscle
paralysis most of us experience when in rapid eye movement (REM) sleep, in the shallow waters of
our sleep cycles in the early morning. Without sleep paralysis, we might act out dreams and
nightmares (people for whom that does occur—those with REM sleep behaviour disorder—
generally have poor health as a consequence).

Estimates vary, but about half of everyone who experiences sleep paralysis will have hypnagogic
hallucinations at the same time. Hypnagogia refers to unusual experiences around the boundaries
of sleep : the shout of a name, a flicker out of the corner of your eye, or even a sudden touch as you
drift off. The most common hypnagogic experience in sleep paralysis is this mysterious ‘feeling of
presence’ : the sensation that someone is there, without any clear sensory evidence or even any
input from the outside world. And the presences that come during sleep paralysis are often of the
worst kind—pure malevolence, as if something had just stepped straight out of a nightmare and
into your bedroom.

Feelings of presence (FP) are, at their core, just that : feelings. While we routinely think of
hallucinations as auditory or visual in nature, the FP experience involves the mere sense that
someone else is present without a visual, auditory or sensory cue.

60. Which of the following is true of sleep paralysis?
(A) It affects less than 1/10th of the population
(B) It leads to muscle paralysis
(C) It is likely to be protective in nature

(D) All of these
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61. What is the relationship between sleep paralysis and hypnagogic hallucinations?
(A) People who experience sleep paralysis seldom experience hypnagogic hallucinations

(B) There is a big possibility that people who experience sleep paralysis also experience
hypnagogic hallucinations concurrently

(C) Sleep paralysis and hypnagogic hallucinations are always accompanied by the
perception of someone’s/something’s presence

(D) Sleep paralysis is usually accompanied by the presence of something malevolent but
that doesn’t happen in hypnagogic hallucinations

62. Which of the following words from the passage means ‘radiating’?
(A) Rapping (B) Primal
(C) Emanated (D) Rattled

63. Which of the following can be inferred from the passage?

(A) Sarah’s episodes of sleep paralysis happened more than once

(B) There was a spectral, malicious presence in Sarah’s room during her sleep paralysis
(C) Muscle paralysis happens to everyone during their REM cycle

(

D) Sarah saw a ghost in her room when she woke up

64. 27 Oy A GOl g Fer’ 1 geife cofen e = cfe T (AP uiqe (2 fa

e o |
(A) IR = B (B) Pl = 5%
(C) AT S P (D) AfRC S T
64. TP ©g SRR 96 Freq [em ©9=2 906 T TAmE Bl G 2 |
(A) IfFc @R P (B) PP @R T
(C) I G PPl (D) I @9 FM
64. SIS FEIH STfdecl, T T | ST 311 JSIRI Steett AGATTH S ST G A& |
(A) ATEETET 3T TS (B) WIcIioTg A Grate
(C) HICRWBIN 3TRT TIATeTg (D) ATSETET TR BRI
64. According to the development theory, ‘development’ occurs in a child when the factors
come together.
(A) environment and education (B) education and health
(C) heredity and education (D) environment and heredity
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65.

65.

65.

65.

WIS (2’

(A) STEIB ST SF TEPIFETT AAEZ
(B) TIEF 712

(©) W@

(D) (CHE1-CAIfeTa FICe] IS B2

WIS 231

(A) SN SfSES € ASICE N4

(B) %“9\9 (@)
(C) ="
(D) CHRTIYET &y FRAMFS Tea]

e et

(A) TR AT SATEHHR AR TAHRE! BT ST

(B) TAR BIANEHR
(C) uf<twr

(D) S-S rEr R Steem

Maidams are

e

large fields

8w

temples

P —

x>

enclosures for sporting activities

elaborate burial tanks of Ahom Nobility and Kings

66.

66.

GF ZA5IfSANeT RCFIOR RIS QP! e e aoal 21 eme $¢d e

A) SEFRS Fhe e

(C) wEfeq afes Feeizs

(B) Se=
(D) *FARfeF Teomfes FT

G35 ASIfEH e ITFF FRZIT GG HFF I G G I 2wl F¢ae @

A) SRR TP o>
(C) wwefer 2l freeaiee
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66. HITH ST Y@@ BRIMRET orE 998 SRt dde wrgE B
(A) TFET fegame TRty 2 (B) Towmmi ety gri
(C) T TRTE gty wrerr (D) e et

66. In a progressive classroom setup, the teacher facilitates learning by providing an
environment that

(A) promotes discovery (B) is restrictive

(C) discourages inclusion (D) encourages repetition

67. X S MRS GBI “Ioree AT F41 27, CFl 2771
(A) TIREF qUERCD
(B) TS ICHRCAD
(C) TICbe bRCIDb
(D) FCHI?ICEN! GTHRCAD

67. & T @ MHRTS Gb “1o5ercy FHcereea S0 =, Gifb 2o
(A) TS ER (CRISFPES SHICPTCTS )

) TS FEE (FAACS SCPID)

) T(BSTS Yo (ST SHPICD)

D) STPTNRE JERE (FACOICRIE SHIEPICrD)

67. ST GARAEE! Hid HUGEEE HAES AR SR, s gt
A) THEE g (Diagnostic assessment)

B) QYA YA (Formative assessment)

C) SUR g (Summative assessment)

D) @HsT ufy G (Contemporary assessment)

(B
(C
(

(
(
(
(

67. An assessment that is generally carried out throughout a course is called
(A) diagnostic assessment
(B) formative assessment
(C) summative assessment
(

D) contemporary assessment

68. From the options given below, choose the word that is most nearly the same in meaning to
the word ‘Annihilate’.

(A) Destroy (B) Entrain
(C) Forward (D) Testify
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69.

69.

69.

69.

Il 7 I T@ | ©%F T2l W e ofts S Ao e o I | T o
2’9

(A) 2 o™ SCH9F I FRI S

(B) ©f3q CEple e I SIfRe, (T ©I2 (P IS T SET| Sqeq F91 2]
(C) TIfEFeE FFe F7re O fied S@a frge 7 i

(D) 2 fes Syl e Fore Tq-Th SAF ARACR TEPTeers TS AP FR 21T

Tferel 7 I =@ | Ol T2l G9% PR OIS SCafaeeicd “fe@’ esl S ed | 9 e 2
A) 1 HCEa SICIas T TS §ew

I I 251 W 04 ©R (T FUAS RIS G S| Te[od el
AEFe FFe “fahece ¢ OF feem wieaes e Face Fieee
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o

P —

afaren omE 12 19 W S armer o wriftier ot st tgeae’ geae i) oty
SHRRIRS I

INIRERIRICIERCIEUEIRC R IDETRL

B) forlt M 3o WG, sareHl for arsarsrel SreTerts AR qevEeE ! e

C) forn Ml TETERE Wi TSR ST 3TEssT GaeTaqT aieia)

D) TEH AMER 3T TR @EmERH st f@ maf et 198 wrAEteeT gEn

(
(
(
(

Vanita is in grade XII. Her friends and teachers find her ‘emotionally mature’. What does it
imply?

(A) She has learnt to suppress her emotions

(B) She had a happy childhood, so she has never experienced conflict and turmoil
(C) She has learnt to control her feelings effectively in a socially appropriate manner
(

D) She knows how to express her feelings accurately to her friends and family

70.

Fill up the blank with the correct option :
She has _ luggage with her.
(A) much (B) many
(C) any (D) Al of these

71.
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s @t Freg STcafe REmR SR STRITONS 2ICarey ?
(A)  SATOIEF CIACFIR “Ifc!

) Ry 2 Pro-wrgs miRie, 2o PFReee (PIcT SR 12

) frfge e@icor Afqc

D) F$gam AR “Ifca
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(C
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71. FERIS @MG Frem SRR RICE & FCCE @ 2Eres 2
A) erofER CIaewR AR
(B) @y afb Frol-Arer v, O Frees qre @i e (R
(C) frfFe cuaesa “ifdca
(D) ISR AT A

71. TEEM o THEIT T QR AT SR 9REr Safgs aefee STRsm?
(A) FIET SRR TSETET
(B) = form-ferrfren @i, srma wRifffe @een foera fon
(C) HHAESTHE ARG e
(D) TAATESTEM ATGR@AT ST

71. Which one of the following is best suited for emotional development of children?

=

Democratic classroom environment

o8}

No involvement of the teachers as it is the task of the parents

8w

Controlled classroom environment

P —

D) Authoritarian classroom environment

72. ‘PRI P NG SR QRTRL AR (I SR 2
(A) = = (B) &IF 7=e<l
(C) faz Tl (D) CemTozRTv SN9=ETeT

72. ‘el Fo NS SORRT bethcas “IfRbETS (2
(A) =l (B) @Iz <=l
(C) faz =mel (D) CenifozPIv s Sel

72. FEHE GEYA AT oA AHARERTET JRAE
(A) woft zmi (B) WTeq e
(C) Ty T (D) SAIHATE AT

72. Who was the director of the Assamese movie Piyoli Phukan ?
(A) Phani Sarma (B) Jahnu Barua
(C) Bishnu Rabha (D) Jyoti Prasad Agarwala
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73. TR AT Z@-RIGPTEE 02 Sl I 2ARSCH! FINCeR Salelol o7 | (9 Bq-2@PRes [+Ics] O]
GF O AONZH 21 7 | AeR™ SiKwq A9re SIICelbel FCaIce a2 fiem Frwdiq ¥ ide ‘Fere
Sfecre’ el Sifefze w1 399 9L 275

(A) PR AR S (SSERRT CIAICHIOTS SRAPT 2m¥S 23

(B) fipeTeel miftgAel o foem SaReE 2fs srepcafie

(C) MR RMERE “IRa SR |

(D) PR e PFrs 2fe [ 23 o/ »[Al TRFrred O/ @< I/

73. TE CAFT0 352 TEHlA | OF KRR e SR Sl 7 | ol @2 Al @ Bfeane
TESHIce 20 IR | KRR S A S I TN o1 O FrEiom @3 Sl i
‘PR SfecareE’ 2 wfefze a3 | @3 o 29

(A) TrwEiEr e @R AT SIIRPT 2 ¢

(B) e wiitrgSier @ @ikl e SiHrEeeT ey TS

(C) TrwIEtar RmeIE #fde Secs /e

(D) PR R @R SIorE ey PEFm 2ife Sigem i

73. AN @M WEEER SEE T g R fER e wmiEe sern a9 gere
TR | S S SmE

(A) WIHTRRT HEfY AR orEt @ o mamremfy g

(B) WIGTRRT foM AEGI TR el R e e e

(C) WAUTRRT FEHTCETE HIARA™ A&l g™t

(D) WAUTRRT T A SRE SrEamER foarf, deHeme sud SHRmE! BRamE

73. Jaya finds her class very engaged, her students participate in all activities and tasks. She
finds it as a good challenge to engage her learners. While discussing her class performance
with her school Principal, she describes her learners exhibit learner agency’. What does it
imply?

(A) Learners who are active and exhibit confidence in the classroom
(B) Learners who are responsible and self-motivated towards studies
(C) Learners who can bring change and transformation in the school

(D) Learners who are invested and show ownership towards their own learning
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74. TG FIRF K F27 I TGS 2
(A) (I35 (B) =ferer catlel
(C) eI (D) el

74. Ted FRE S FIoR T {4 2
(A) aTFEh (B) =ferer el
(C) D= (D) I

74. TIE FSR TSNS AT ATE Garan?
(A) TTEE (B) @ dfa
(C) F rarg (D) Bem

74. North Cachar Hill is known for
(A) graphite (B) rock salt

(C) limestone (D) coal

75. ©oTo WA (@I A STeTEes SPTNe enes fewe w2
(A)  SFHeT (B) J9=ml
(C) SIRPR (D) ol BIFilE

75. RS @ I SeRRens e Tresf e sk 2
(A) D (B) ==l
(C) =BR (D) ol oA

75. TEEH d¢d Wildlife Sanctuaries 311 STEMH TR Semma &7
(A) =ThefieT (B) =LAt
(C) T (D) der =

75. Which of the following Wildlife Sanctuaries is located in Udalguri district of Assam?
(A) Chakrashila (B) Bornadi
(C) Amchang (D) Bura Chapori
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76.

76.

76.

76.

e Frecs =Y ‘@GR 167 RN IR X MR cofent (o€ [ e w09 2
A)  FIRe FIphiR og

B) TbIR0TE AR ©F

C) (M55 og

D) @3(ARS (FICACOICES T2

(
(
(
(

T (I I *191 CIRICTR CFeq PapTafere FPT F1E 2 Feal 3 fofl eleanst Feas
(A) ol S og

(B) @B <o g

(C) CoPBI oG

(D) @sfr @Cbs T

el BIRIFTNGRT TEIThRE! BRAT TGRS Tl H1e BR arer, SR srert
A)  FATIRe 9| @ (classical conditioning theory)

B) IEANSIR AeH™ @Hel (insightful learning theory)

C) TEdTed @9t (Gestalt theory)

When teachers use flash cards with pictures to teach words, they are applying
(A) classical conditioning theory

(B) insightful learning theory

(C) Gestalt theory

(D) None of these

77.

77.

77.
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I x+ y+2z =10, (2T (5-2)° +(5-y)2 +3(5-x)(5-y)zI T ]

(A) 125 (B) 1000

C) 23 (D) @3RS (FICAICHIES 27

I x+y+2=102, O@ (5-x)° +(5-y)° + 3(5- x)(5 - y) z-93 I &
(A) 125 (B) 1000
(C) z3 (D) @sfr @Cbs T

Sfe x+ y+2z =10, 3T (5- )3 +(5-y)3 +3(5- x)(5 - y)z | 71 ST

(A) 125 (B) 1000
C) z° (D) SBRM AEET T




77.

If x+y+z=10, then the value of (5-x)° +(5-y)° +3(5- x)(5-y)z is
(A) 125 (B) 1000
©) z3 (D) None of these

78.

78.

78.

78.

GG (PTGl PEpa (! (A8 9 gge)ef ?
(A) TryF 2fs FREaweteTel

(B) TI-TAN AfS Caf e w1

(C) TI-TAN SFFIOR [RAE &l

(D) PEF ef-THITEs o<E

GG PR qere PR (IR GBI o Beef 2
(A) Tz 2ifs seameerel

(B) =@-wal afo ¢ a3 Sial

(C) TI-TIaR SEFTol-REEs @

(D) PrFcEa SNef-TIfE S

3Tg FIATTEATE BRI e STRgan M= A7
(A) THBRE BRE AR AT

) PRGN O AR S TR

) T BRI S ST B TR o

D) SRR aHe-t@f amar

(B
(C
(

Which characteristic of a teacher is least important in inclusive education?
(A) Sensitivity towards children

(B) Patience and affection for students

(C) Knowledge regarding disabilities of students

(

D) Socio-economic status of teacher

79.

Choose the option with the correct narration of the given sentence :

He said, “I saw you a few days ago.”

(A) He said that he had seen me a few days ago.
(B) He said that he had seen me a few days before.
(C) He said he had seen me a few days ago.

(

D) None of these
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80. RFCIR-RFONTTa =AM FORE I (SSENT Peg FFE FRACA OF 7R | @2 G[EAR F2CF (FC0!
PR AT 2lcErey 2'9 7I1Cq 2

(A) T Pro-wrgd F191® FRAM® (@R IR (TSR 2AfSam 2 71

(B) TT'T TI IR (DS SNFHISF SF 8 (2 70T
(C) (SECET 1 T SRR F¢q AT e e Fe o1 23
(D) (SSENCS OIE (SSEF T (2 9’6 WF EI FiFTo! [o/cq

80. fC:IH-fFCT Ao T R Kl FERCF TAPE FCA | G2 QAR ¢Feq TR TAYe IR
M 2

(A) o2 Frel-Srer et RIS &R PIACe Ol 2l 2¢q ~ICT

(B) ZACICT Nl SIHECP SGFHGS € NS B¢ (I

(C) ORI Y1 T SR T G e Fee foid 207 7w

(D) ORI ©[A @ SR AR 2@ (508 IR (T IR ORI FiHTol ACT 2o 27 10T

80. TTEHMHRT RGN 211 ford @ TR AfRT | S o FHRA™ orar Jafgs TRITwHT e ?
A) foram fommgm e Tewe fomr-faws e st g
(B) Torarf swaf omaien foE Fisamgan IR I Men @rerdt
(C) TorER et Sek 38 WHATEHT TSI AR WHIETHT @ e o
(D) foriR wremnfs fomiR Sema sy waf sife e amesmn

80. Adolescents are rebellious and detest authority. Which is the most appropriate reason for
this assertion?

A

Na?

They become rebellious because of conflict with their parents at home

Their hormone levels make them aggressive and angry

Q

They exercise very little self-control and want to indulge in risky behaviour

P
—_— —=

D) They believe they are grown up and desire autonomy

81. 15,625 53 9 W2F 5@ @ 1,951 5, T’ 7 9l &S 3 M2® 41 27 | (SC12 CE IRCIPAN oF
29 e 7' 2

(A) 20% (B) 16% (C) 25% (D) 4%

81. 15,625 BIFR 9 WCT &g v 1,951 BI<Fl, (UG 7 @f® 3 [T 59T a1 27 | MRS v 2
[CREREN

(A) 20% (B) 16% (C) 25% (D) 4%
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81. 15,625 UM 9 TN IRFE™ a1 1,951 T, W@ Y& THARE! THEM 3 THE WICTHAR S| 3Tel
FERM FaH T s¥et STE?
(A) 20% (B) 16% (C) 25% (D) 4%
81. The compound interest on ¢ 15,625 in 9 months is ¥ 1,951, where interest being
compounded quarterly. Find the annual rate of interest.
A) 20% (B) 16% (C) 25% (D) 4%
82. JWEF TGN TR Po @ [FoR-ReMRE ‘R ww-cva’s CTNR A |
o - R PTRReT AMITES Srsfiaa qReE 72 #fqée tace | Treefes ~ffefor Ao e & 2792
(A) TGP TS BRFCaPTRes Bea-feeRe ffen aEe wrept ficr & coseEte “bmea 799
P, T TS F91@ NfeT BECH! 2ATaewel
(B) FOIR-fFeNIIc Areafes aoaaeia s157e ol Sioicet 1 Tolq Sere e @ wid /e
(€) fFoma-fFonsiy Imifes Twe 2fS sder v e w27, S <& & 2 =g i
AFEEF TOIRE1 TS IS S7ICTh FACH! 7w
(D) e O AT® & /b1, RFea-RFeIRE Freics A Mwa 2 SpTe 1 gl
82. NI MU SRS Jeol Sieie feeeia-fRees feees “aifica et wiecs” e =1 | qesihice
e WA 4 3281 “If e 20z | ArEfsF 919« e J_oee AoF e Fi 2
(A) ST MHGCHE SRR RPeE-ReeRiorm wion “ewafel 5[ Fae [fen m@Eg srep om,
SSAIR ANCIR A% ©lel W1 et 2ce
(B) RFCIR-Re@R ©Iwa TRRINCE ICH OIvE S Pl [ Fce, Ao qoaislr 1o
fIsiE 70Tt A0S 2w IR
(C) fFeima-Reoafiom A=IfER TR T+t ST e B8R @I ecem @3, FRe 7f& “faafde
20 | AT GHAREIR 0% 7@ AFI6] WS 7% 2SI
(D) e SAPRIR SPIeEmS | ReI=-RPeIFR AN ™ IRIER (Fed F IS SPTe 36
$eIR
82. GWR fosii MEMANERM gremE, Mel AREAGR MearEql MHAEE ™ (‘Fear of Missing
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Out [FOMO]’) i maumma dH1 | AEEA®RA THSTR ATeRRAREN JHEEEET e RIS S« |

T e aTfesen S e wREEET 91 e

(A) TSR foeT MEmfRERE! TR AEaF®R oEE SR S e S S aea T

(B) CITEHIBIN TG W1 ST&l SISl Meral 3Tge ATha= oMb e mafy e fifem
it

(C) FWSITR foireTa ARHFSRMA THEmeesHREE Sd fHrT =, aH=ET ggu didmeEi | e MeH
STTEHRI MM THE! Ahms fHfemr ster =

(D) e W IEw wme o, dn-faen Seew TedrE g S sereaEi e
TRGATSTHT T




82.

In the age of social media influencers, many teenagers find themselves in a zone of fear of
missing out (FOMO)’. The idea of social interaction of adolescent has changed exponentially.
According to the current scenario, what is the most appropriate explanation?

(A) Following social media influencers offers various gratifications for adolescents which fit
their choices and interests, thus staying updated is important

(B) Adolescents prefer keeping themselves updated with latest happenings to flaunt about
their knowledge with their peers

(C) There is nothing to worry about teenagers’ interest in social media, as the world is
changing, it is important to keep oneself updated with the latest happenings

(D) The stream of new information is addictive, teenagers find themselves addicted to the
use of social media

83. TP ‘CAPFENI W’ T 9y AP ~AleTe w1 27 2
(A)  CoNETTIl FqCs (B) T qN T
(C) To™ FqWCa (D) ACTE JI
83. I JPRIRFR Wl Sy “cetperenial fr<” 2o “ifere =3 2
(A) CanTTiel FqwCE (B) o= AN T
(C) ITo™ /WA (D) SRCTHA T
83. Lok Kalyan Divas @ SITEME TR SH THE BT STT7
(A) AT e (B) T TH FohA
(C) T =g T (D) SR Sl
83. Lok Kalyan Divas is being celebrated on whose death anniversary in Assam?
(A) Gopinath Bordoloi (B) Tarun Ram Phukan
(C) Nabin Chandra Bordoloi (D) Bhubaneswar Barua
84. ‘PR ARG Tel'T 7Fia1 & wifest 2
(A) =PI ST Tafe fEet el
(B) =P ifewy el ~fam
(C) @25 e Mz e “Ifvaw
(D) w=Ifis fobasR 57520
84. ‘oI MfRe) e’ -7 AR F fowt 2
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84. ‘oW wWifged wur 4 famiffEn (Precursor) AMM?
(A) TR v I=fd arfefy g
(B) 3T9W Hiie T 4Twa
(C) e foen anfee wa it
(D) TS foeReR wamEfe

84. What was the precursor of ‘Asam Sahitya Sabha’?

=

Asomiya Bhasa Unnati Sadhini Sabha

o

Asam Sahitya Sabha Parisad
Jorhat Zila Sahitya Sabha Parisad

—_— o~ =~ =
—_— —=

D) Assamese Literature Society

85. Fill up the blank with the correct option :

Macbeth is a tragedy of a man who was with great qualities.
(A) empowered (B) endowed
(C) obsessed (D) possessed

86. I I W TP SOF FIA AT CTRCR OF T (2R
(A) =T (B) =
(©) =T (D)

86. TWad (1 WA SIPIN Sfeey SR I A 0w 20r 1R Wb w1 29
(A) G (B) “mu
(€) = (D) W=

86. STEME! TA TR T FIIYLH FAEFNH FST Sai
(A) o (B) W
(C) S (D) R
86. The part of the Brahmaputra that falls in Bangladesh after crossing Assam is known as

(A) Meghna (B) Padma
(C) Jamuna (D) Barak
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87. 12-22+3%2-42+52_-62+...+97%2-98%2 1992 I 3’7
(A) - 5050 (B) 4950 (C) -4950 (D) 5050

87. 12 -22+3%2-424+52_-62+...+97% -982 + 992 -7 W &
(A) - 5050 (B) 4950 (C) —-4950 (D) 5050

87. 12-224+32-42152_62+...+97% - 982 +992 {3 91 ST
(A) - 5050 (B) 4950 (C) -4950 (D) 5050

87. The value of 12 =22 +32 -42 +52 62 +...+97%2 - 982 + 992 is
(A) - 5050 (B) 4950 (C) -4950 (D) 5050

88. 2RI (2T I =@l | S3F 701 “R6A BCz I FIACe Of2 12 S9-71 T 2 @3 o1 (@ of 79w &
e S fTe@ TSRS 3191 5 Toceisl I | A 9B FE, FRERT e T Sz F
©f2 O AN WF G-I SRS Oz Ggwe SHRAN | ©zg WeF AAME o[ 2R [ oikg
GG S9SN AT T S Sl Tz | K 267 wief 2 Aifizfer g fonea
97
(A) T2 TR (IS ey, ©IFF A AR T, ©R AICARE F ACRIES 2T SO
(B) f2RIcH ferer Apfeore #(f0, 6% S TR A PlACR, YOI (QCeel ALFro Ol fByaad T

ERIORSIRE
(C) e ferer el afe Seacael i eicare, oz Safieomee 27« [ T w2 oifice
(D) f2RcH fever RPaiSit T ¢aMB #I13C, 6% ~Forq Iq-q1a] oafaa FIaee 123, ©f2 B[ 741 See
CCEIERSIIES]
88. {2y @l (Icw “icw | 7 b oemml #Ifivy = A, O ARMR % e B (9| @ O qfce
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40T 3R TFEECE O S ToCerel I | GF M 920, IFER A TR SRS FACS % e[S ICH

G I PN O EeA SRR | O 1 S F1r TS 20w O -9 @98 O &Ko R

TP S foica Sl w1 gem PR/ RS 2o g2 e e et Fi Sopifa

I 2

(A) ferRICT MR Sfecsl ARS G2 @ RN Ig-TEE R SR 93 IR 7 O Aeie
267 THe .

(B) T2rw o Afears “fea, =W 43R He2 SFFd FA02 G [ 7j2F FeFhed sl f o e g3k
BRI IRIRE

(C) fermics ©IF foiced “IRlcI 2IfS JCICe] (Rel IS | OIF SeNfEFRPRCRe 2[IbIcas T ¢’

(D) o= Tgom @96 Jomet oo CPIeeR, Ol Sl JhCe oleaeee (@ Rmereas a5l oapices s 7
3R F2R O (8 eIon W29 (A0 @R SPICS T 201




88. Ty omat 2 31ma wRl | forl WA A TgA RAmfas s, st e e T T st e
AT ST ST o T "ieiel R S ARGRS Aidial ssti| HATE S TE deRs aq
ARG o IS SR S et fowran faf feama genenfa) ot fmmen enfiem weg fomm <m
AT TMEW YT A BRARET | 9 BRIAR fEame Jieret F St 7raR g
A) e R i @, o e g o fee maf arerst Tem S w@sn
Ll

(B) foemm mmafy o feamafirat JrfiRel, maft T SEE ST WSt WAl TEAREl, TS STere
FIGET TS BB TR TR ST SeremE

(C) T Tty wierienzf emamEEr T gremeETn, ot TR Tt o et

(D) frrn mafy e AMERA J9E TS g JeE | A, [ i wremefat anme
SAscATal ArE™ T, form SeamEmE SfwE erEmy

88. Priyam is in grade II. She lives two separate identities. She often finds herself in conflict to
what she has learnt at home and what she enjoys doing in her peer group. She enjoys
making music, hanging out with her friends, and they have a major role in her life. Her
mother has approached you and has complained about her friends, and their ‘influence’ in
her life. As a teacher, what do you understand of this situation?

(A) Priyam is in peer pressure, her mother is right and she should not get ‘influenced’ by
her peers

(B) Priyam is exploring her personal identity, her choices and interest, it is natural to have
dilemma and conflict to be part of two separate cultures

(C) Priyam needs to be serious about her academics, her priorities need to be reoriented

(D) Priyam has found a core group of friends. However, you understand school friends are
not forever, she will eventually grow out of it

89. Fill up the blank with the correct option :

The class test will commence Saturday.
(A) on (B) from
(C) till (D) wuntil

90. WFRORM YRHE ~[ B Frsa [l FR9-FAS Haces. S | @3 qEeEN o AR
i O3 BPTH SIF OT Preca(ed ~07a, s o frsd-goee e7 e g fal =7 |
3 (I ATORT CAFHERTIRS A 0T ?

A) Tfew, TfeTe IR SE =g-Tofz

(B) M, IfEere Tead s or-Toet

(C) wra-Tefetfeh, Fafarrel o< Rrygfoniere]
(D) >rErTehonierel, ey e ore-Tofela
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90. WFRORM YESHF 2R Aco M PR-FEI TR W | I3 Og @A FEFE S 03 A Fh 2
@R (7 IR PRy “o7aw, e @R Frsos So awg e =3 | @b @ TWikS afigrefens
ofee a2

A) Tfes, AFETe FR GR AT

(B) fIm, wfeere Tead 1R SCeeef
(C) SIcHee, FaETe! G TRyefeNiere]
(D) “TRIgfeNieTel, TfEY G SCAH

90. UM TSRS RIS BRART STEF-S1HAH TG FST1 o TSR S1ied ThH HEEEE ST @r THH
formr =10 SftErEE T B GRS Giwi, STEeE SR BRET i g Ty g S S
ol G SAGATEHRE! IR ?

(A) A ARGTE, MEH QHIH AR TE@! A<=
(B) SINTHM, el ST AR TeRa! Hi=g =

(C) e WG, e Y78 3T STEH

(D) FEMM, T ARGATE AR T H<HE

90. Humanistic approach proposes teaching is not about cause-effect relation. According to this
theory, each learner is considered unique, the focus is on child-centered curriculum,
content and pedagogy. This illustrates the humanistic characteristics of

(A) individuality, personal action and self-actualization
(B) development, personal growth and self-actualization
(C) self-actualization, autonomy and empathy
(

D) empathy, individuality and self-actualization

91. Twey WFERA (N ST A T Aqo0 SoR WRRLT 32 7R T Twhws HRIERE €64 5[
AR W | 2 FRERS (@ CRARSRE oo ©{cq ?

A) =T CFafiFR

(B) I CFAIEPI

(C) PPRE CFalEPE

(D) ST 2Ffeq €7qe 3 fTqHiel

91. ©RCSH QYN 32 7R SeeoRn (et SR 2T & e (FICh AT SR WIS 2w
¢ | @i RN (@FIeha Fafrie (@R afewies W 7Ies ?

(A) T «feq"

(B) TATHNETS aheE

(C) wfFeRe afews

(D) G 2/Ffeq Tom @ft frda e

TCR-2024/P-11/202-D 51




91. 9Ra HRAfRA T® 32 31 IRk AFuUEEl SERAEE amEE Siftee fafrerfaee am gREi e
ARG | SR MEEE EHEHRE Teie Stee fafswatat a9 gemE i (Jurisdiction) sTEmETE
T ?

(A) T e

(B) @M fomn

(C) emfuety fom

(D) ST GEWH TRTH e G

91. Article 32 of the Constitution of India guarantees the right to move the Supreme Court for
enforcement of the Fundamental Rights. This falls under which among the following kinds of
jurisdiction of the Supreme Court?

(A) Original jurisdiction

(B) Advisory jurisdiction
(C) Appellate jurisdiction
(

D) It depends upon the nature of remedy

92. FRrFRS FrFl @ @l =7 | FrFe Tb® Tve Tees :

1. SCecel 2. A9

3. Teome 4. fAIrFR qRTFIel
A) 1,4, 3,2 B) 1,2, 3, 4

C) 2,4, 1,3 (D) 4, 1, 2, 3

92. FimFRe Pl @ STl 21 | eI o @b e

1. SCIcet 2. Agen

3. Teome 4. TEIEwced qEerFTel
A) 1, 4, 3,2 B) 1,2, 3, 4

C) 2,4, 1,3 (D) 4, 1,2, 3

92. HFHEETR (Observational learning) HIGFRET T8 GBI SR | HAHRI s HIET IS :

1. TEREAE 2. YGTEHM
3. fagam 4. WHHICHREE! R ARG
(A) 1,4, 3,2 B) 1,2, 3,4
© 2,4,1,3 D) 4, 1,2, 3
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92. Observational learning happens in a sequential way. Rearrange the right order of learning :
1. Attention 2. Motivation
3. Production 4. Retention of observation
A 1,4, 3,2 B 1,2, 3, 4
< 2,4,1,3 D) 4,1,2,3
6,16 6
93. i a2 +b2 = 2, g’ &P~ gy 2’y
23,22
a“b“c
@A) 1 (B) -1 € -3 (D) 3
6,6 6
93. A a2 +b% =c2 =W, v & TP~ C g qm foefe w4
a’b?c?
A) 1 (B) -1 € -3 (D) 3

93.

A) 1 B) -1 € -3 (D) 3

a® +p® - b

93. If a? +b2 = 02, then the value of —— is
a’b?c?
A) 1 B -1 € -3 (D) 3
94, T (IT VIIF Ta! | O3 {&aba wed (36 (Afe ©Ie 2 | (e 9139 qI=dl S A2ADPece] ©ies GIaw’
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w1yl frer—o e ©RT (Plel Pkl iR | PR o] qmdl f[hgHieT @3 cmifer s (@ ©iR #9E
W SR I A (R W FAR [P | aem Frws i s v efficere forel- (3w

(2RI AfScay FRE 2
() RFeTR-feeRT gl e < S feigsl Sl O @b Sl Fiea
(B) I IF (R & (?IRF P @2 [aws e 349

(C) [T To[FS TA-TAIF OIS LGP S FH o199 9@ Sow Afe-2(631 FA SCEHN F9

(D) BFR N F9[© I AR FPTE A I




94. o IEY ITF W& | (T &I IO (I (LEICe SERICT | (13 T ©IF AFAA 3R 2B O
G S O | G O (RICA] SRl (iR | ST Wi g qr_Il AR I feien e e el Of
(RCIC TSl 699 ¢ AR (NS NCST CAPNF “cd =1 | e s/ fifsrasl f2o1ca wneife Sreica
i T @ SRR AT o - (e &ive =19 2

(A) for forcsr e FPem-fAeNRicm g e 2kerel e ST Facae
(B) Roim-Recn@ S oIS *[c3 ¢ REaioee Sceve [ 2110 swde Faca

(C) Feicera 3w v qie-~Ifva I~ Al Fwice FEFRAcE e =[S 2feqme P 7

(D) TR TG 0o FAN ¢ TP AN FICIT

94, g grEt 8 T wuEHn| fern fopehe anfe Aomge o e we | fafT AR A ot e fard
T ‘tomboy’ T g1, 1o foer fofe gt S A1 o) srsamen, i @@ armer e o
‘Tramn’ wiie Rt sm ‘Temsemn & enfe T T B ST | e B S, i i ot
HreTfed ST I T2 S Bl ge1?

(A) T A AAFE AH TS & TEH HEaE - e
(B) T AR TE~<IE@ThIT WIS AT HiSh o TSRS ATeREAmETe

(C) wafa dHie HEET-FEgThRS STSEeTE AeRAE =S amar = gy fammfafy aman
e

(D) WA TS Tasa=AH ST gt

94. Sana is in grade VIII. She is into playing sports like cricket. Her friends and classmates
describe her as a tomboy’, and she does not have any problem with it. However, some of her
friends often make fun of her as she behaves like ‘boys’ and does not dress up like ‘girls’. As
a teacher, how would you ensure your class does not engage in gender discrimination?

A

Ny

Discuss current teenage fashion trends with respect to different genders

Engage in topics on how boys and girls should dress up

@)

Engage in body positive dialogue with students to talk about gender role identity

P
—_— —=

D) Talk to Sana’s mother and resolve the problem

95. Tl FRAW MG, WA BE AT 12 @9 | NG, WE LT @se 403, T qeEGl Ayl
FALB.F AP F B, (SC2 @ TR GO @oFe] folefdy 1 |

(A) 403 (B) 217 (C) 248 (D) 372
95. 7b WUF A2, Ty 4oH AALBFT 12 B89 | ALY, € AABT @9FA 403. I TS Y2
F.8.3 AW SCoFF (/5 2, IRCe IR qioa Qoree] ool 39 |

(A) 403 (B) 217 (C) 248 (D) 372
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95. HHA FFREIH g. 311, |37 AR oA 3. o an.f ®= 12 2. o7 91, 3 g. 3. 9.4 e
403. Jfa A-E1 SHSHE 3. 37, 8.5 aEigs galE SE, st i AFAH ST o |
(A) 403 (B) 217 (C) 248 (D) 372

95. The LCM of two numbers is 12 times their HCF. The sum of HCF and LCM is 403. If both
the numbers are smaller than LCM, find the sum of the two numbers.
(A) 403 (B) 217 (C) 248 (D) 372

96. [ RoMR-ReIRiE g 21 TR o9 e AT FAATe TSR AXRT TR (2R, (SEEP
oo a0z
(A) R[5 AT (B) 0y ~d=eTe
(C) ~Ifitx foros (D) IS5 IreieT®

96. TFC-FRFCMNT AR I-HCE LA 2E &y Rzl Seaael Face I 1 e Jencay gz Fmafer
(A) a3l (B) “Ifq “[d=nea
(C) v Floics (D) ~IfS5% Sreice

96. S WRHMGR g WA oAt s1gT AHTATRHT ofiftd TR 3A1el AIRAT STameriT ST | =i
A) Tty Mg (B) Tty s
(C) Tammafy mefam (3w am) (D) Tty aFET=

96. Adolescents who have committed themselves to values and goals without taking time to
explore alternatives or experiencing a crisis have reached
(A) identity diffusion (B) identity foreclosure
(C) identity moratorium (D) identity achievement

97. From the options given below, choose the word that is most nearly the same in meaning to
the word ‘Alacrity’.
(A) Briskness (B) Fear
(C) Frankness (D) Alarm

98. e (I SR NP RGeS S’ ACHC Gl A 2
(A) werfer T9oFa (B) fSw 7=e “Iee
(C) === (et (D) A QsAde 7ex

98. eI (@ SR SR SeTCRd Tiefbceel @i AR 2
(A) Werfer TwoRF (B) fSw 7=em “Mmee
(C) el (B (D) “WF (T3 T
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98. TEEM WEE R FAFHE SEifiiE ‘sram aEiee’ g fuftmm s

(A) drrfer ST (B) SfcHT et U
(C) e =g (D) forf drEaT F1
98. Who among the following Assamese singers is known as the ‘Nightingale of Assam’™
(A) Dipali Borthakur (B) Pratima Barua Pandey
(C) Anima Choudhury (D) None of them

99. ‘Pedagogy’ *I< ﬂjﬁ"ﬁ\@% 2 Cace

(A) e 72 o 1 (B) Mruz (o Wl

(C) Prez MiFEFe 1 (D) Pres gfeacst a9
99. ‘Pedagogy’ *It Jeolf@me 5l 23]

(A) TrReT 212 awfe 41 (B) Mrecd (Tog (redl

(C) Prycs MFEFe =1 (D) PrecE @RE 31 3410
99. ‘Pedagogy’ GISHE M AT

(A) ' feon g (B) Tr'HTE e

(C) T HNE FIATTE BFE (D) TG A
99. The etymological meaning of the word ‘Pedagogy’ is

(A) to guide the child (B) to lead the child

(C) to educate the child (D) to understand the child

100. Fill up the blank with the correct option :

Prizes will be given to of the players.
(A) all (B) each
(C) every (D) individual

101. o1 2 S FI SRR TGl 2T F91 WO (20

(A) (B) TF
(C) == (D) TR
101. (I i IR SER TSP @R Tl ATRCE AT FCACR ?
(A) e (B) |F
(©) IS (D) TR
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101.

101.

e SHET Il 3T TR AR AN SSIE! SErei?
(A) =Hiufer (B) &
(C) eHfaR (D) =

Which river separates Karbi Anglong Plateau and Naga Hills?
(A) Kapili (B) Barak
(C) Dhansiri (D) Daiyang

102.

102.

102.

102.

ST TP TG e B S AR 2

(A) THAPIG A (B) Bl SEIHR

(C) =PRI e (D) T S e
ST TeIeT TG @ (3 eIfRifbw 2

(A) FGAPIE AW (B) 2cae =GR

(C) =TI (T&El (D) OTw e Wfers
g w WA wue’ g Al ffemr s

(A) TSR aEe (B) A v

(C) ALHMY sIsTeeal (D) ¥Ig A5 At
Who is known as the ‘Emperor of Assamese Novel?

(A) Rajanikanta Bordoloi (B) Hiren Bhattacharyya
(C) Lakshminath Bezbaruah (D) Syed Abdul Malik

103.

Fill up the blank with the correct option :

A stream runs our house.
(A) by (B) over
(C) across (D) on

104.
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(CRCE MO Slemed I PR, oo SRR 2 Fare PRl 7R S oo 9ol 27 | ©i2q 25q16!
Prwcs 2lue Sifdfes] (@ 3G S TR O Ifece PRl ARz | 58 O SN Rrwcee aohl
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(A) @z (B) fmarfwm
(C) fercafsmm (D) fercetemm




104. (Ced 2ARMR FICHEE! SRPRe S90S SPREl (@14 | O O BBI-SIRel 26 F0e AP T 21
G Bo1 TR0 [CHIIRE TIRFeIC 2R ¢ | ST 216 PP ARSI (SeafReer (1 3&E! S
FRC TR JACS SPRAN 200, 57 O PRI SHF FEESe g [ o Feaw | ol SRl e
c1aifs 20 #I1ea 2
(A) SR (B) TCafr

(©) TR (D) foscatfsm

104. WU FoRAREwRE were givEn, mat sty sraEfEEE e s S o givamme e s e
s wrieEr fifs fifsema sufs wef armem M Sel 291 aFemH | T 5 @i smert
ERITTETET & W8 SR e | o omenfare 3t snemen famfam ween o S g e
(A) THREET (B) fewmanfran
(©) feoafemn (D) feoaifaa=n

104. Meher often finds difficulty in following the instructions. She faces problem in articulating
her thoughts and comprehends the instructions in an incorrect manner. Her English
teacher initially thought the child is finding difficulty in comprehension because of English,
however her Assamese subject teacher also observed a similar concern. According to the
situation, what can be the possible diagnosis in this case?

(A) Aphasia (B) Dysgraphia
(C) Dyspraxia (D) Dyslexia

105. Fill up the blank with the correct tense of the bracketed verb from the given options :

“He said he (see) the Taj Mahal already.”
(A) saw (B) had seen
(C) have seen (D) see

106. 9%+ A F9re 25 bR fym <N oifee | @2 Ry sn¥Effem 2(fs forbm @gen 63 591 | (9€ @3
25 RBR a1¥w 5 R o1 (Reens) el s | smeme gaemeE ¢ 30 oM #1m-fRef s1ae
GRS <& FICET o 1 D =l feiefy 41 |

(A) 25% =TS (B) 25% CETRFEM
(C) 20% =Tr® (D) =TS 91 (RO =12

106. 9Fa+ v¥ facare 25 R wm 54 ez | 2fe PR wa e v 63 5[l | ¥y [ewel | 25 RhR
T Yedd e 5 b el (Remseena) i | fef smeeica 30 fibicas wa-weem fafbes v wicy e
FCA | O ST 1O 1] Fef 59 |

(A) 25% T (B) 25% =
(C) 20% =Te (D) IS A1 S (FICAGIR T
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106. T TEEHAE 25 fofeR MAR MeER T | o MR MW =A™ S8 JFEH fdewa 63 11 & o
25 fofer MgEE 5 fofer ¢ (F8F AIfS ) TAREE™ | SiEEETE Ere o 30 foler 8 Temam meuwE!
AT AT BT FATFET T G STl g |

(A) 25% TR (B) 25% el

(C) 20% HATFHT (D) GATHT TaT WET S

106. A milkman has 25 liters of pure milk. The cost of pure milk is ¥ 63 per liter. He mixes 5 liters
of water (water is free of cost) to the 25 liters of pure milk. He finally sells the 30 liters
mixture at the cost price. Find his profit or loss percentage.

(A) 25% profit (B) 25% loss

(C) 20% profit (D) No profit, no loss

107. NEP 20209 W& A¥eq ©ifersl i@l 02z | Qoid Frses 7fge tere AMfas Aegfe—Rf
wifs, forcel, 3¢, o, ST SAF THIOR 2 [ AEIDO—P F9r0 @it [Fupera Jwooghs [ Tamicacs afve
@[ Tfve 2

(A) Pce FEFRIE TR (B, “FFollfog adl S f> [ifel ToeT =g-2aie folerge 1
(B) SN TEIRI AN (TS FFRe ST GO, (Feaal =1fE e wion =7 @ of2 i

QUM A 02 7S
(C) THFPHF FR=Fhed Tersl a1, Fred Al e $o1 @EIE Fefes, @FaEes [Ee e -
G

(D) IR cecq Presiwers Ao owm S AP TR @ 9@ =W, O3 {99 299 IR
PRI meRre (e S5ae F41 Tfvw (12 [ae Prsmie 4

107. NEP 2020 ¥ ¢ [ReIeR @b (A4S Sifere! A SCacR | e Frrees gigesice wife, fors, 3¢,
g, TE GRS FS (AN ANEGS 22l 2P TR S G [areEs e & TeAme
foca afde zea Tt 2

(A)  PFofeR N I AT FrHIRICS TEce [KO[ FA @R o)™ (G 11 vetl PEwRicns 3feFE w4

(B) 0O TZI AR AN (AT HALEPoT SIA GHICAl | FCA] 2Acqreemee] 1y oredl wae A
Of2 #I%1 GCFANCE SRR 2 0T

(C) TIPS Ao SeTsal Pl | P Al ol 2601 FeIs, (@I e *ME 2l oo
< <41

(D) SIfeaE M FEFicrm STSHER emim S e TRE @ 95 G2 GRAR 2[ee 391 G7R [
frFRior ool wmee a1 Sfve o [ Fewl v 4
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107. NEP 2020 3T 987 AR MH o 78 2119 wiiters 2| o wrifi Tisiwa gl e, g,
TRINH, A A S A7 SFEST e T e ST 90 ! T Gl ariEE T8
FATTAT STRGET WIS TSI 17

(A) TRES FEERE g0 ASs A, 3 gt menty o Sm o mfaf em mfy ey i
HERTGRE! TS g e

(B) Tl Tt ToiS g S W gtRget e WieA, STeeten MY S1fed o g 1
ST STecl o T SATRAT SR

(C) THH AT SHE! ASEAE, AT TR SR TEEETE, S JEm S§l 9rsi T@1 o

(D) ¥ TSl WEEERAT S @Y g9 S9el TREEE J9E, § 9EE @seEE STl
AT 01 a1(G 311G G2 T S RE |iedieTs g

107. The NEP 2020 gives a comprehensible list of values and dispositions. As a teacher, what
constitute the elements of a school culture to reduce discriminatory social practices related
to caste, gender, class, religion, region and disabilities?

(A) Treat all students equally, there should be no bias or partiality, rusticate students who
misbehave and not follow rules

(B) Ensure discipline by taking strict measures against discriminatory practices, it is
sometimes okay to go by the saying ‘spare the rod and spoil the child’, and give
punishments when it is absolutely essential

(C) Practice respectful dialogues, mistakes to be seen as natural part of the learning
process, and no corporal punishments should be given

(D) Encourage moral teachings through stories to teach all children everyone is equal, and
how to behave properly in school

108. Choose the option with the correct narration of the given sentence :

He says, “I am ill today.”

(A) He says that he is ill today. (B) He said that he is ill today.

(C) He said that he was ill today. (D) None of these
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109. P (19 feetiq &% “wi2ee fEfere 2=l 521’ 2
(A) w1 2ols (B) BT
(©) FIF =Er (D) foarR
109. SPICHR (F (TENDa T o2 39 ‘o120 T9F SRTS T *2d’ 2
(A) T zPIIe (B) BAlRmS
(C) IR wigers (D) foaR
109. TEM o et get i amere Siearss™ o e Tt g e S
A) femr grEmE (B) =&
(C) wIfdl AT (D) f=
109. The name of which district of Assam means ‘a shining town situated on a hill’?
(A) Dima Hasao (B) Charaideo
(C) Karbi Anglong (D) Chirang
110. TF “RiF Frelal 2 Ba-gabeas Sz Wate fem 2[00 (SHE RIS (SECERFT o]
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(A) TREPer oD O JoReT q0Cd K

(B) IETIR G K] o<k Jonrceiz. e f261eq

(C) FreR JomRe o JenRiCs FrFl f26ica
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110. TR Teag MRl (T 2omel, O RIG-ZaAIWE (e SR oo s Afsre Fe SRifTe
TR G G0 -2 P | fof ga-ma@iom o2 e FHC, TP FACe G P Tere
20O AR T | RQ-RIATE O I AT ARee G 2fSFfTe T 7Y T (ORI S
fof1 Fioifire 2pRel @z (GFePs 2w 0 | O FIOW TA-TAF! WIeRR O SIo@sw 3 |
IARPCT O - 7Tafe FO6! FREA 26 O T FAK Gon {7 e Rrsar Afedry o frer
aAfsfen ferfoma wca |

31 et PR (IR TonRe “Mae Saers e 2
(A) O TR G- I &) G 7S
(B) CII &) T G PR O A7

(C) CI4E T G2 FoRIR X141 7S

(D) CI o0, (IR &) Yo <R PR 141 “Tafe

110. TS BT AREH & BRIAR SR T SEET -G ieTh Al i eF1 o™ e Bt
formft @ THe faEnf arwmaf i dnfrd fafefs w@t i foe wrmmereE arfiy
FYAAL, SR SEFl AR ORI AHETE 7eg g | HEET- SRR e dieieng et hrAH
TR et R o e aemar amew oo g 9ifd faae o deferse grem | ol emaf
FRETRR GRS TE-3FSEE Al | 9@l @EE TaH BRA™ @T-2RT SE6 STpanel sl miemt
@ oRTEAT TUMEE HRIFTNH aia o7/e sngThra! forll R Maf SR @rf2rn s@el @resmer diH
feama wfie |
RIS JUITCHIT TRTETE BT AT e WTf-2rdl Trsieai ¢
(A) TAFRIA S A AR AR STE™ S8 g
(B) TIAHEM M@ 984 A AR 984 A Fiaiens o
(C) TAMEI S G AR S8 A dietiens fars
(D) TIAHEM S G, FAHEI TR S G AR S AR | fGams

110. Ms. Pranalee, a secondary level teacher, plans her lessons to motivate her students to reflect
on their daily life experiences. She helps students to gather information, make observations
and draw conclusions. She provides guided questions and checklists to enable students to
reflect and document their learning experience. Students in her class also conduct
self-assessments. Ms. Pranalee maintains a teacher’s diary to write down her personal
reflections to understand if her methods in the classroom were effective.

Ms. Pranalee is adopting which of the following approaches of assessment?

A

Nt}

Assessment of learning and assessment for learning

oz

Assessment for learning and assessment as learning

Assessment of learning and assessment as learning

—_— o~ o~ =

D) Assessment of, for and as learning
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111, SN A=A COMFIT AN BT -Tera 9 6 2

A) ‘CIRE O (B) @’

(C) ‘Teedl Fe (D) ‘P =’
111, SN AR IR 22W (@9 -TRFE 04 T 2

A) ‘ETE oS’ (B) ‘=@’

(C) ‘D FS (D) “foenifss s’
111, "W Ee TS ggeme fifafem ge’ 9a’ S gt @7

(A) SFR "iq (B) SmT

(C) Hierhudt s’ (D) “Fermifer wed’
111. What is the name of the first short stories collection by Mamoni Raisom Goswami?

(A) Chenabor Shrot (B) Jatra

(C) Neelkanthi Braja (D) Chinaki Maram
112. T x+L = 1, (o2’ %25 +— L < 5w 27

A -1 (B) 1 C) 2 (D) 25
112. T x+ L = 179, wed 125 +%uﬂﬁ?ﬂ?¥ﬁ¢f§[ﬁl

X X

A -1 (B) 1 C) 2 (D) 25

112. sii%x+i=1,33|®_v|'[x25+7l ER:ICIESIHic)
x 25

A -1 (B) 1 C) 2 (D) 25

112, If x+l =1, then the value of x25 + is

X xs

A) -1 B) 1 ©) 2 (D) 25
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Direction : Each of the questions (Question Nos. 113 to 117) is based on the passage given below.
The questions are to be answered on the basis of what is stated or implied in the passage. Choose
the most appropriate response that accurately and completely answers the question.

Back in the day, the Assyrians were one of the Near East’s biggest superpowers, controlling a land-
mass that stretched from Iran to Egypt. They accomplished this feat with military technologies that
helped them win any open-air battle or penetrate any fortified city. Back in the ninth to the seventh
centuries BCE, attack was all about the siege ramp, an elevated structure that hauled battering
ramps up to the enemy’s city walls and let the Neo-Assyrian soldiers wreak havoc on their enemies.

Constructed in Israel, the Assyrian siege ramp at Lachish is the only surviving physical example of
their military prowess in the entire area that they campaigned in, or ruled over. Now, for the first
time, a team of archaeologists led by Professor Yosef Garfinkel and Dr. Madeleine Mumcuoglu of
the Institute of Archaeology at the Hebrew University of Jerusalem (HU) has reconstructed how the
Assyrian army may have built the ramp and used it to conquer the city of Lachish. The team drew
on a rich number of sources about this historical event to provide this complete picture. The
outstanding amount of data includes biblical texts (2 Kings 18:9-19:37; 2 Chronicles 32; Isaiah
36-37), iconography (stone reliefs depicting Assyrian battle scenes) and Akkadian inscriptions,
archaeological excavations, and 21st century drone photographs.

Lachish was a flourishing Canaanite city in the second millennium BCE and had been the second
most important city in the Kingdom of Judah. In 701 BCE, Lachish was attacked by the Assyrian
army, led by King Sennacherib. Garfinkel’s analysis provides a vivid account of the construction of
the massive ramp that was built by the Assyrians so that they could haul battering ramps up to
the hilltop city of Lachish, breach its walls, and totally overrun the city. There have been several
conflicting views on how the formidable task of constructing the ramp was achieved. However, the
rigorous method employed by Garfinkel and his team, including photogrammetric analysis of aerial
photographs and creating a detailed digital map of the relevant landscape, produced a practical
model that accounts for all available information about that battle.

The research suggests that its construction began about 80 metres away from the walls of the city
of Lachish, close to where stones required for the ramp could be quarried. In about 25 days, the
ramp, which was the shape of a giant triangular wedge, could have reached the city walls. “This
model assumes the Assyrians were very efficient, otherwise, it would have taken months to
complete”, said Garfinkel.

113. What is the main purpose of the passage?
(A) To describe warfare tactics of ancient Assyrians that made them formidable foes
(B) To provide a description of the construction of the Assyrian siege ramp at Lachish
(C) To describe an archaeological dig supervised by Professor Yosef Garfinkel

(D) To show that a lot of extant historical texts support evidence of Assyrian military
campaigns
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114. Which of the following can be inferred from the passage?
(A) Iconography and inscriptions are a rich source of the history of an area
(B) Lachish was the second most important city in the Kingdom of Canaanite after Judah

(C) Assyrian siege ramp at Lachish is one of the few surviving physical examples of
Assyrians’ military ingenuity

(D) Garfinkel and his team have come up with one of the most credible descriptions of the
building of the ramp at Lachish

115. Which of the following words from the passage means ‘destruction’?
(A) Havoc (B) Breach

(C) Quarried (D) Excavations

116. Which of the following can be inferred from the passage?

(A) Without photogrammetric analysis of aerial photographs of the area, Garfinkel and his
team would have struggled to piece together the chronology of events

(B) The siege ramp and battering ramps came into use on the battlefields less than two
thousand years ago

(C) Assyrians were the Near East’s biggest superpower, controlling a landmass that
stretched from Iran to Egypt

(D) None of these

117. Which of the following cannot be inferred about the Assyrians?
(A) Their military prowess was formidable
(B) They did not just rely on brute force to win battles
(C) They were avid students of the history of warfare
(D) They were quite adept and fast at building ramps

118. SIS Z1 $EF7I e (Pl 78 C2fee 2
(A) 129, 1897 (B) 12 &, 1987
(C) 9 (c¥Fd, 1923 (D) 3 iR, 1930

118. SRR FRC DY g ea 8 2cafee 2

(A) 12 T, 1897 (B) 12 9, 1987
(C) 9 G734, 1923 (D) 3 T2, 1930
118. =HgM foclien Fifll STH™MN JTEm™ o1 GrEegare STsmari ¢
(A) 12 ¥4, 1897 (B) 12 ¥, 1987
(C) 9 T¥=R, 1923 (D) 3 e, 1930
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118. When was Chandubi Lake formed due to earthquake?
(A) 12th June, 1897 (B) 12th June, 1987
(C) 9th September, 1923 (D) 3rd July, 1930
119. Fill up the blank with the correct option :
the beginning they sang and later they all danced.
(A) In (B) At
(C) For (D) To
120. 2(fs T=¢q W9 R (@) A9 oot (5 frpi om0 237 2
(A) Tl T frs (B) el Wt
(C) [ foerrma framt (D) ©r=
120. 2Ifo q= A9 I (@A) -9 A= Wafs @ w1 2o wfem w1 212
(A) Tl T fraoT (B) el fra
(C) T footR forgmn (D) I fimt
120. SETHES! d6 GHE! AT (BFAR) TN SR SHETET BT ST ?
(A) wet gt foew (B) S feam
(C) M faemg feag (D) 9@ ¥M (Tea Day)
120. Every year which day is celebrated on the full-moon day of the month of Magh(February)?
(A) Sati Sadhani Divas (B) Joymoti Divas
(C) Bir Chilarai Divas (D) Tea Day
121. AT TTGore feamel 779 FIRace] GoRIF Frpes e 592 229 199 2
(A) TR PRSI e 4l
(B) TEURETS 2% 999 SIS T@-TaIF 7J2F F41
(C) ®BI-TAR TS AN fiifers (2 (SEToRFT 7Eeeaa & (oIl
(D) FCOR RIS 2@-7@lq 67 e qeae I
121. CARCS eSS fomel 76 F00 G s FI ] 220 FC 2
(A) T e P G TR w229 FHE
(B) 1% TR fefers 2a-=acm 2% I
(C) Ta-Z@R T A SWI-27 FCA IR GZ5] JoR FACI
(D) =E-Ta ToF TR et S (reae
121. UTE GYRTE TETN BREET T QAT T8 BRI 77 U@ AT ¢
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121.

To cater to individual differences in her classroom, a teacher should
(A) have uniform and standard ways of teaching and assessment
(B) segregate and label children based on their marks

(C) engage in a dialogue with students and value their perspectives
(D) impose strict rules upon her students

122. 95 CIA19 24 T T@T OTC RPT 14 I 3 WB | TGS A S (@[ 6 T TGS 31 30 G BT T
RO 13 29 4 W2 | (T T2 RGP (U070 & Z[@q RPT 12 q29 7 W2 | (T2 & T9e(F o2
A 5 & RIGT ST T B 2
(A) 10 =9 1912 (B) 10 =9 5 =R
(C) 12 =3 3 W2 (D) 93=9 1 9=

122, 930 CIfce 24 & =ICE oTT T 2& 14 T7G 3 I | 6 & Toe Bd ©f$ 29[ Fee 30 G BAF T
T WL 13 T=A 4 APT | e ©f$ 2eq gen Ve wiead T 12 T=h 7 WP | ORME 5 e e
20T T 9771 flefy 59 |
(A) 103=g 1 9™ (B) 10 3=d 5 9™
(C) 12 <9=g 3 I (D) 93=3 1 9™

122. HFY OMEIH |1 24 BEEMH TS SEIS 14 99R 3 g MeH § fUEAE W 6 wEEnEl dreEe @l
30 WEENH T8 SE@ieT 13 S8R 4 TH| e B BIIEhRH qetd 98 BEEi- S| 12 SR
7 T | sl M B 3T |1 5 BUIHT TS ST S8 ?
(A) 10 SER 1 gH (B) 10 SER 5 g™
(C) 12 «ER 3 TF (D) 9 SER 1 §F

122. The average age of 24 students in a class is 14 years 3 months. Due to admission of 6 new
students, the average age of total 30 students becomes 13 years 4 months. The age of one
particular new student is 12 years 7 months. Find the average age of remaining 5 new
students.
(A) 10 years 1 month (B) 10 years 5 months
(C) 12 years 3 months (D) 9 years 1 month

123. Q- PUEAF FFiece] FrpmeTe (i oy [Rere Ffeate 592 S #I0 ?
(A) ToweF ita TR 27 FA9N Ta-wAT o F41
(B) Rwierm e #191® R4S 792 Ta-2aF Tolef 7
(C) TrmIRla e S Frsmie 1 A& eq AP F1
(D) Ta-Taw Teger o G’ i ol 91

123. Q- TORACT PRl (I S8 [T (O &) G2 TS A1 2
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(A) THSH ACTS T 2SN ARG G TG-FATH TS T
(B) RIeTcaa TG e e < AR Ta-RIaed Toef 7 41

(C) TA-ZIACH 2ACATSH SR el ~Iafen yiZes! “Rada a1
(D) CIAFCT Ta-Talod Tegel GR THe 3 72 (fAce ©Il T




123.

123.

TGRSO G BRIMNGRT A1 SEASR STRAT Jram STereE! g ?
(A) TS TG ST SRR

(B) WEETAI HHET=TS TReTE 1 wEarsrar @i

(C) FRIHTEHR T Sfed BT @it TSTRE Fe =T

(D) ITE! TIRETE HEATRRE Tl AR AR HHA I e T

The assessment of students can be used by teachers in teaching to develop insight into
(A) identifying the students who need to be promoted to the higher class

(B) not promoting those students who do not meet school standards

(C) changing the teaching approach according to the learners’ need
(

D) creating groups of ‘bright’ and ‘weak’ students in the class

124.

124.

124.

124.

31 6 SIfI¥e FI9 STHRINFR e wPe ‘=g e’ Zo1ea “iete 41 239 2
(A) FHPE AP (B) TNl I
(C) STeTwaN I (D) AN FIFS

~

31 Wb @Iy F9 TRINFE et S ‘wq e 21 wnfers =712
(A) FHIE AP (B) Trorwenel &=
(C) TWEN qF (D) AT FIHMS

31 AR 9 SHEEE STEEE S 9H feare wifes smEn?
(A) FTH dfah (B) U= S&
(C) AH<TH F&aT (D) STufteRT=d ekl

Whose birth anniversary on March 31st is being celebrated as Students’ Day in Assam?
(A) K. K. Handique (B) Upendranath Brahma
(C) Ananda Ram Baruah (D) Banikanta Kakati

125.

TCR-2024/P-11/202-D 68

e fr @i f[oea Frse PRERIFN ePies I8 (EIRe 2R 0 2

A) RErE cFaq @, B e [Jeme a9 T TR @i e Rreg R w99 e
S (oIS T2 T FANCS B R PEpe STy 6 FCAIce 7B/ IR

(B) e 2foapt o qeelfes facy &aeh whe awgeef | qom R Frrdbeee Feetre &fe
i1 (ST AP BIfRAICAN JonEe i A1

(C) =TT WIS SRCFICAGS “I9F FIECE 1 - (RGN AT JonEe TG« 02 T

(D) ®IBe #[EFE A[l 39 - RN FEE R g9 w9 AT | O eI RERIRRCE (9€CET




125. PR @32 TR Wea ok Freicd Rrspcracs Rrsiicrd ifenl Jenre Fh0e HRITe] e 2
(A) TmETEe cRashR wn RN 3R CINR 00 SRS Q@RI O RIEeEcs RReeE CIIR B
TS MR FC G R ST TS Prpisre Srepiermasiel e w41 (0“1

(B) i 3foapt @k Iielfen @M o awgrd | qva FEee @iomE et o v

(C) Treiicra B9 TR S 20T WFCS ABCIICAGS A #0391 Frsscmes Frediom
SIfRWI JETIECT 2] FCS I

(D) HfEsTe *[rFifr FrwRior B Jenme MRy FC9 | R SRRl Frwea FEsion sifen e
FACS 7T G2 G(b Ten FriRmE ARSEw 0D 21

125. TBRA STHEE e JeR SRiffEn srEemer maitrd i aememe qee aee

(A) ST IR M SEAE oW HieiEe BRE TREE SEeeie BRIMTRERE! 7o R
AIAFEE Jraral REHAETE 7eg 2R SR o SIS TRIYE diaig BRieEn-2mE (Pedagogic)
STTRETEHT BT

(B) &R WA TR BloREME frm Sidg MHR| @ BRITHET SEEsR Afdea foda
TEfafoEe™ o e MR S8a gamme STharAr g@t

(C) RN SETEHTETEH! A5 HigHh STHSTE ARise HUTHTHRA S8 GARAET STTaHT St

(D) SUTE ATTE AFEM TSl GUAEThR diefiatg ST fwfeqr g | fafeam et s
TRt T e g 3R St SRttt foenfa Tree g

125. How does the knowledge of child development help teachers in assessing the needs of a
learner?

(A) Knowledge of developmental domains, drawing appropriate linkages between
development and learning, helps teachers to understand children’s level of learning,
accordingly suitable pedagogic practices can be developed

(B) Knowledge of family history and heredity is crucial. A teacher may be able to assess the
actual needs of the learners by investigating the medical reports

(C) Conducting psychometric tests at the beginning of the year to assess the level of
learners can help teachers in assessing the needs of the learners

(D) Conducting summative tests will help in assessing the level of learners, accordingly
teachers can determine the needs of the learners and plan better pedagogy

126. €51 5 SFF RN abede I ASFIE 9 FRAMCH! I2ICE €T 6 TRFT RN (R 237 (AR 9abede) RbI
5 SRFF TR abede I CTFICE 9 FRADH! I21¢e (TR abede9) (TR (2RI FRANDE 4 B9 A 277 |
(SR’ a+b+c+d+ed T3]

A) 18 (B) 12 (C) 19 (D) 15

126. 4316 5 SCF R abede-9q INWCE 9 PACE GF(b 6 SCF IR Yabede (O = @D & 5 =CFa
M abcde-9d TEME 9 I (O 2SI 6 WHRI AN abede9-99 4 W AT |
a+b+c+d+e-49 V4 3(F

A) 18 (B) 12 (C) 19 (D) 15
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126. A8 5-fomm AR abede T smfawrE 9 foume st aeen 98 6-foamf @l gemH
(I 9abede) S 5-fs@mf WM abede T WIS 9 WiSHNET & Aselt (AT abede9)
SARM B 4 T 996 SFE | 3% a+ b+ c+ d + e 1AM STTH
A) 18 (B) 12 (C) 19 (D) 15

126. If 9 is placed in the left side of a 5-digit number abcde, a 6-digit number is formed
(i.e., 9abcde) which is 4 times the six-digit number where 9 is placed in the right side of
the original 5-digit number abcde (i.e., abcde9). The value of a+b+c+d+e is
A) 18 (B) 12 (C) 19 (D) 15

127. e Te Prece Rgesa [aca sl S $f #1e ?

(A) 18 =T W TR T (B) 9-11 3=d
(C) 5-9 T2 (D) 11 =9 &I O TH©

127. (P T PFRYA] ARTS KGS! 70 JAHCS A 3R Sl FACS #(1CH 2
(A) 18 T=7 ¥R O SR (B) 9-11 3=d
(C) 5-9 I=A (D) 11 =8 4R O Tes

127. TIBR 99 FGISE AR GEAT AR (Abstraction) TR T @EARRET (Hypothesize) FfSHT
THETS ST ?

(A) 18 SER I TEE (B) 9-11 SR
(C) 5-9 &ER (D) 11 SER I &

127. At what age do children generally begin to understand abstraction and hypothesize?
(A) 18 years and above (B) 9-11 years
(C) 5-9 years (D) 11 years and above

128. ‘THCIRIS FIEH1 AR’ e ?

(A) 500 (B) 1000 (C) 1500 (D) 2000

128, ‘TNCIAI’CS FOBf (IR W ?

(A) 500 (B) 1000 (C) 1500 (D) 2000

128. ‘“THEWSTE TE WS HWT €7
(A) 500 (B) 1000 (C) 1500 (D) 2000

128. How many ‘Ghosas’ are there in the Nama Ghosa?

(A) 500 (B) 1000 (C) 1500 (D) 2000
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129. Fill up the blank with the correct tense of the bracketed verb from the given options :
“It is time you (answer) their letter.”
(A) answer (B) answered
(C) gave answer (D) should answer
130. 1952 b 229 (FTRoTS] fiibe S (21 SPIRE GG T2l (e SA1Ze 2
(A) 3ffeT 4T (B) <M WggeT Crdl
(C) RFw wmEcm (D) QT & ITH69]
130. 1952 JICFR 22 (ATl fo6GT SIPTH (A0F FEIDS 2939 @ T2 & fagem 2
(A) IR AT (B) el WggET R
(C) W =mecm (D) G (7al I[P
130. JMMHER A1 G’ ATgsieT 1952 [ fifsr ot g forammafieme g’ smeEmE?
(A) st @a e (B) Toft Hesfer g=ft
(C) ufthar 21Telg (D) O[T St SRR
130. Who was the only woman to be elected from Assam in the first Lok Sabha election in 1952?
(A) Bonily Khongmen (B) Rani Manjula Devi
(C) Mofida Ahmed (D) Renuka Devi Barkataki
131. FERITE @M [erE TR Free 21 eo/e g [a @ 2
(A) FEFRICE ACS IR Y7 FE ORI [T 10
(B) PRERIE (AR 159 1Y oS ¥4
(C) ey Txerzeq T Rl seve 1
(D) PREFIF YREPTR SR F9Me ORI 391
131. FrFEg e {FCE o PRFeoE SI0Ta $o[ $Fg (TS 2CIeH 2
(A) PR Ace e [ 197 w0 o [ 59
(B) PERICE 21 THcaa w1 ol 41
(C) e Sxarzeey Sy PRl seee 1
(D) PREFIFTE LRIPTR SRS FHCS RGN SGRYT I
131. WEHGRN TR shmeFmEmE SRIfReRT 71 arme =iy g =17
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B) SURETHT HIFAT TR @iikfyr formft aremam

(
(
(C) FTHTHRE! JEa STEr A J=
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131. Teachers, in order to help learners construct knowledge, need to focus on
(A) making sure the learner memorizes everything
(B) score marks obtained by the learner
(C) involving the learner for active participation
(D) mastering learning of concepts by the learner

132. O[O R[S (FIFCH! SFICHRT TS SN [LePTeE SR 5 = i Feae w1 (2 ?

(A) v 181 (B) STCR% 172
(C) oyc=m 161 (D) e 150

132. SO FRRHCTN (Pl SC0RT 0O PN REPTeR SR 5 T2 031 fodiRel 91 2030 ?
(A) wcoRv 181 (B) SF[CoRT 172
(C) v 161 (D) SRy 150

132. YA G 79 g% (Article) ST ™ foeam qarty awat o (5) SER o e SeEi?
(A) <1 181 (B) <®I 172
(C) <=1 161 (D) <% 150

132. Which Article of the Indian Constitution lays down the duration of the Assam Legislative
Assembly as five years?

(A) Article 181 (B) Article 172
(C) Article 161 (D) Article 150

133. (I HTe O fF29 FIC¢E 1 (FIRTS 1 firay C2fest 2
(A) 1930, Tl SPT® SF@ Oflel SRR S 4&ql e
(B) 1921, MRPTIRS SPRIS SNCHIE S Toflaze Sisrelol Rl FRC
(C) 1943, (ARG T[S (T ABAPTS I S P
(D) TR «bIe =7

133. (I A 93 F TR T (ST 10T (63 20 2
(A) 1930, TH P SRS BICT! ST 2P OIS Sl
(B) 1921, PRRTISA PRI ST G TON2CS HERS] 2T PR
(C) 1943, (CAFRICHA FCZ (F1 FMBAFS FAR TLACF (7 TG 2SR IR
(

D) & (IS T/

133. e WEATSAE TR W R FIE Higw@! Jiem HIfy gargi?

(A) 1930, TSI SATETHE YRA THR AHTEHRATGE! SR Irar

(B) 1921, emmRa T6NTE B HHEHRAR SR T 97d ST T SR
(

(

B
C) 1943, TN WIREE T8 HE Wi Hiel WA JrEe
D) SBRM HE 7T
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133. In which year, Kushal Konwar was hanged by the British and for what cause?

(A) 1930, spearheaded Quit India Movement in Upper Assam

(B) 1921, facilitated Non-Cooperation Movement and Satyagraha in Sivasagar
(C) 1943, declared guilty of conspiracy for a train derailment near Golaghat
(

D) None of these

134. SCPAE e PRl A7 Gice Bt ¢ 71 @1 e Siee S Q@ TR Fifewre e 2 S
I e SeeiEfow CIacpon “IfRe RS $Cd | 9o “Tafers T2 R SRR SRl GTRAeE el
geeTesl AR AR | Bl C @ IS SO FSTOSCE (96T T2 Tl Il FIRACEH Sl
IR | AT eSSl 76 #messel 2120 Sfcst IO foess e (eRiEs e 2

(A) PFERRIE TPT FCF2, GCIER ToE RN AR A w13, SR G FRE QNS [RENE
7f% 491 29 WF RIS e o @fenls 3y cefens T $9

(B) g9 ~rafecs 97 g FMve w1 ACS (@9 TG e CAl ANKE AACH, G (FaS
AR RN T PR KA A W CF SRS T2 9 PEcE R
TP G912 Bl o1 A=

(C) Rtzg @ EACPIE FRN, 306 QIR Pl fere SeEEEe! e S @R | FER A
W€ CF o1 2 A0 (SSTHTI TP T TL] PR AN 277

(D) I IRTE QAT AN sifeneTel oE FraFi e eo[qe e[ (R | FrFE A S CF
F5TS SCEAIGA I (AT & 267 S qRace] fra A€, S 39S (SETHAPT FPHCIRE el
ThmE (OSETRe JEe TR F(Aq AR

134. S GAPCT =@ AT A% Ta CT PR U WCR, Wi ARME o2 b1d APce (w1l IR 9.
PEr-PfFsIom SefEfers o/ ITFCs o@R e R | JRE-RFkia P o Boa e
CTREIT ©ICrd 2 S 203 | Jd C SR e Q@A FC @R ©OIrd SPe “IRa$eTd &l
ST S T | NPT [ EOICR & S+ 0 B Sl “Mee] 229 1 Tfow 2

(A) CIAFCFE FaA TP O T2 AP | G LHETA AT GO N (S ACAGA (2, Tl
FI-TAE OIHE RS IR A FE @AW FAE GR CTCHeg @t @ @Tfeans 18
I FACA

(B) YR@-Rle = a7 fve @ @ FEFRm @@ W oo Jge| e |l P 90 |
AT WG TH FAF G GG TG A GR C (@ M @AM PACI0E. Tew TN |
SICRCE ST M PTG AP €2 TP QU (TS #I1CH

(C) @y YRa-fFfe o =i s w93l o= el S fesre wevd [ ke
P RS FACIN A9 FA1 GT T | Td A @G3R C-47 7cx P @ S0 0] FACTR
TIZ T8 GCFCA AN

(D) IRE-Refe T 97 el AN afeteens T8 F@ FrEwdion FrE I9EE gefie
TN R A GR C-9F T ACGA T JEIC2 O 2% ST SPIC PICS (Al (TS I,
T2 0% SRS SIS I (ISR &) SIerd e fofee w1 @oe “iiea
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134. HIET A ST ATEISTE BT C S SHT &, To@ 7T 7T Aol @ ol 3T SR A g amat
oqTaTi TSl Wl | & qHae SAEaEHE J1 g SR sl fawr aest fSreame |
T C 31 SARd g fodifs aiferdt S Aot wreerEEi | Fif aTfden, ondt wrrE e
THRRGT =T WTATHAT ST 9T ETeSeTe SANHE A1 SAEe AT ¢
(A) wEETET Ty SHrE aremEE, 99fe SHwE Ty giREeEr wen, oW e areamteen sE

IS MEal oraw mis ffefomt SrTe TR JEAeRE! Sear Tl SR STea! ATl Qe
ElCraiE)

(B) HIT™ | el AT BUHHTHRT ANTGRS Sl sat o @remt | serar o e wween A
AW C G & WEAHATEE W, 3 SERiasrE SHE Ul omee e grE erfa
IEREHERIC]

(C) Tam™ A S A= OTEl Gl W, @l e REEEl EaredHl Qe | dfgg wEe
A I C i THSArH, e SHmE gam we fegmmn aefm

(D) W W A a1 ATE! GETE THISTN WRATE SR G A H=E Mem @ier | StRge s
A A C S YEaEEAE HErs] e TEE T Sed S aHl g/, 3T e foe same
THfomT AT /S TR AEiee foE sngmEt feeme

134. Student A in your class has a problem with student C and they are often found engaging in
quarrels and they disrupt the classroom in the absence of teachers. Next Monday, they will
have to sit together as part of the rotational seating arrangement. However, student C has
approached you and has personally requested you to change the seat for them. According to
you, what is the desirable step you would take here to avoid conflict in the classroom?

(A) Students create such problems. Such trivial issues should not be addressed, moreover
this will set negative example for everyone else in the class to change their seats
whenever they want

(B) Seating arrangements ensure learners should not sit with their friends, and to maintain
discipline, in such a case, it is better to separate students A and C, and make them sit
in single seats to avoid any issue

(C) As this is part of the classroom rule, it is not possible to change seats based on
individual’s choice. It is better to talk to students A and C, make them resolve their
problem

(D) Seating arrangements affect social dynamics in the classroom thereby impact student
learning. It is better to negotiate with students A and C by providing them with choice,
at the same time reason out their problems to help them understand better

135. IR Sl TGN (I SR 912 747 T2 ?
A) =u iz (B) omigd PRz
(C) p=eye (D) Frcensa e

135. A qced el I[N A wee] FeaRee ?
(A) Fm Pz (B) smixg Pz
(C) =R (D) AceR Pz
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135. FBRGRA TSemE AT 91 3170 TS 49H AEmE ¢
A) = fag (B) TerR fie
(C) gy (D) TR fiw

135. Dimapur, the capital of the Kachari Kingdom, was occupied by the Ahom King
(A) Rudra Singha (B) Gadadhar Singha

(C) Suhungmung (D) Rajeswar Singha

136. Choose the one-word substitution for the given expression :

“That which cannot be understood or known”

(A) Inexorable (B) Inscrutable

(C) Impregnable (D) Impenetrable

137. 95 oo e 2y SiRdieed Sffeel | 0 (SR 10% (OB CSoHe TR SF 3300 &
(SHICE NOTA (B1e34)® (16 feet | I spetre 1 212l (34 (869 60% (SI6 oS FH 6000 (SH©
TS (A, (T2 & Of2 o Ibed (SB[ SIferpre e (oo™ wnfee foefy 4 |

(A) 37000 (B) 25000 (C) 33300 (D) 30000

137. 4310 (=I6c yor 2@l SReier2el FeafRee | (Wb (W 10% CSBwIc @ A «<. 3300 CSIowTel
NOTA (S34)(S (S16 2wie F¢a+ | et 212 (b 2we ¢34 (S 60 *SIRH #[e FCa+ GR 6000 (S
SRETS FCAT | (SB[ IR (M (S A4 fefar 59 |

(A) 37000 (B) 25000 (C) 33300 (D) 30000

137. W0 fomma’forma i fasfmn s arima | T8 werfy 10% YR 92 BSTEHE ST @1 3300
W NOTA 92 EeE| MM fosern ANEAE w2 60% %2 HF-T 6000 9eE <Ml gEl|
foramra faf er dasama | Suet wer 6 fog |

(A) 37000 (B) 25000 (C) 33300 (D) 30000

137. In an election, two candidates participated. 10% of the total voters did not vote and 3300
voters voted for NOTA (i.e., invalid). The winner gets 60% of the valid votes and wins by
6000 votes. Find the number of voters in the voter list.

(A) 37000 (B) 25000 (C) 33300 (D) 30000
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138.

138.

138.

138.

(A) fort el weeel (B) fort Sfela 511
(C) fort SR CBREBRA (D) feret SRl Colfief

el afeer e =8, TS $ReE e e aFEistie w1 =
(A) ot Sl TeTer B) fort Sl o171
(C) ferer Bfil FofReBR (D) fomt Siiw caraifelef

FHTSTN fohEt a6 TS AFa Agasd! g1
(A) T foeE TR (B) M forwra e
(©) TR (Remifaseret difasrammE) e fawe (D) e fawe o @

The features assigned due to social roles and not due to biological endowments are called
(A) gender role attitudes (B) gender role strain

(C) gender role stereotype (D) gender role diagnosticity

139.

139.
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PM YASASVI S5 (21760 ©61q T&AICH206] HISTF :
1. &< S0 PreeR @ifs (OBC) IIF Sieftafeseid Pree[l @ifs (EBC)J IR 3 ¢F IS (6 |
2. 92 7@ @G 79 oF O iR gfes ane e |

3R (O (FIRER TS APF 2

A) & 1 (B) (<1 2

(C) 1 = 2 Ta@MI (D) 1 % 2 (FICICHICAD 727

PM YASASVI Q&R (2175 faflie qersf [vm 9

1. <5 BY@ e SR @A (OBC) @R Sfefedeicd Swepi il (EBC)T & &35 Jfexers
TP |

2. ¢t AF-MORF GR NGRF [ Tagfe ToHe awie 3¢ |

Torare Ieasfed T @G/ @t A 2

(A) @@ 1 (B) (FIeTIE 2

(C) 1 «R 2 T (D) 1 &R 2 @D 77




139. PM YASASVI Scheme S GHI=I @M e iommma: @&’
1. 0 T ST i omE (0BC) fi TR T e = TewmE el (EBC) fi smam Hed
AT TR |
2. 91 "igHH M o A SE AEAAE ST SRRt |
TSl B T3/ SREEE T
A) 1 (B) 2 A
(C) 1 3 2 HiFa (D) 1 I 2 HEAET AT
139. With reference to the PM YASASVI Scheme, consider the following statements :
1. It is a scholarship program for Other Backward Classes (OBCs) and Economically
Backward Classes (EBCs) only.
2. It offers both pre-matric and post-matric scholarships.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
140. A 9IF B-& QCeicsl o1 I 12 frero 5oof a9 “Icq, o2 FINCBI B W® C-9 Geores] 15 frere 7=5)f
IR AT SF G2 GeF6 I C S A-9 Gepecs] 7o Pleace 20 Wa TR A | (O’ C-9
e FINCHI 7)o Ffaacet e fret wiifar 2
A) 25 fast (B) 40 fae
(C) 30 fust (D) 60 =
140. A 9% B 91 G0 1& 12 el 35[f 0@ “Icq, B 99 C a0 G2 &b 15 el @9 C 92 A
€% 938 TG 20 e =7 FACS 7 | C GFIF! FoMCa FE(6 77 FICS 21 2
(A) 25 fae (B) 40 fte
(C) 30 fust (D) 60 fust
140. A W B3 S WY GHIME! 12 dFE TGS TEGAl 8@, o GHi-El B 3/ C 37 4 15 9HE
AGS AEGAT TR, T o T @GN C 3R A 3 S TGS EgAl 20 9H 9 A7 | 1 C 21
TS @@ TGS AT setal | A ¢
(A) 259H (B) 40 ®@H
(C) 3049H (D) 60 9
140. A and B together can complete a work in 12 days, B and C together can complete the same

work in 15 days, and C and A together can complete the same work in 20 days. In how many
days can C alone complete the work?

(A) 25 days (B) 40 days
(©) 30 days (D) 60 days
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